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£a291)—hk B R X 30—18—25 W/C=55% C=350kg £10% 5
£ 91—k B Hh X 18— 8—25 W/C=60% #9119 LR
£ 91—k B Hh X 18— 8—40 W/C=60% #9119 LR
£a291)—k B R 3 X 18— 8—25 W/C=60% C=230kg £11% 5
£a291)—k B R 3 X 18— 8—40 W/C=60% C=230kg £11% 5
£ 91—k B Hh X 18—12—25 W/C=60% #9119 LR
£ 91—k B Hh X 18—12—40 W/C=60% #9119 LR
£a291)—F 5 R X 18—12—25 W/C=60% C=230kg £11% 5
£a291)—F 5 R X 18—12—40 W/C=60% C=230kg £11% 5
£a291)—F 5 R X 18—12—25 W/C=60% C=270kg #11% 5
£a291)—F 5 R X 18—12—40 W/C=60% C=270kg £10% 5
£ 91—k B Hh X 21— 5—25 W/C=60% #9119 LR
£ 91—k B Hh X 24— 8—40 W/C=60% #9119 LR
£ 91—k B Hh X 24—12—40 W/C=60% #9119 LR
£ 91—k B Hh X 18— 5—40 W/C=65% #9119 LR
£ 91—k B Hh X 18— 8—25 W/C=65% #9119 LR
£ 91—k B Hh X 18— 8—40 W/C=65% #9119 LR
£ 91—k B Hh X 18—12—25 W/C=65% #9119 LR
£ 91—k B Hh X 18—12—40 W/C=65% #9119 LR
£ 91—k B Hh X 18—15—25 W/C=65% #9119 LR
£ 91—k B Hh X 18—18—25 W/C=65% #9119 LR
£ 91—k B Hh X 21— 5—40 W/C=65% #9119 LR
£ 91—k B Hh X 21— 8—25 W/C=65% #9119 LR
£ 91—k B Hh X 21— 8—40 W/C=65% #9119 LR
£ 91—k B Hh X 21—12—25 W/C=65% #9119 LR
£ 91—k B Hh X 21—12—40 W/C=65% #9119 LR
£ 91—k B Hh X 21—15—25 W/C=65% #9119 LR
£ 91—k B Hh X 21—18—25 W/C=65% #9119 LR
£ 91—k B Hh X 24— 8—25 W/C=65% #9119 LR
£ 91—k B Hh X 24—12—25 W/C=65% #9119 LR
£ 91—k B Hh X 24—12—40 W/C=65% #9119 LR
£ 91—k B Hh X 24—15—25 W/C=65% #10% &
£ 91—k B Hh X 24—18—25 W/C=65% #10% &
£ 91—k B Hh X 27—15—25 W/C=65% #10% &
£ 91—k B Hh X 27—18—25 W/C=65% #10% &
£ 91—k WX |[E%F30— 8—25 W/C=50% #10% LR
£ 91—k WX |[E%F30— 8—40 W/C=50% #10% LR
£ 91—k WX  |[E%F30—12—25 W/C=50% #10% LR
£ 91—k WX  |[E%F30—12—40 W/C=50% #10% LR
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SM7E18
WEME
£ 91—k g |[E%F21— 8—25 W/C=55% #10% LR
£ 91—k g |[E%F21— 8—40 W/C=55% #10% LR
£ 91—k WX |[E%F21—12—25 W/C=55% #10% LR
£ 91—k WX |[E%F21—12—40 W/C=55% #10% LR
£ 91—k WX |[EfF24— 8—25 W/C=55% #10% LR
£ 91—k WX |[E%F24— 8—40 W/C=55% #10% LR
£ 91—k WX |[EtF24—12—25 W/C=55% #10% LR
£ 91—k WX |[E%F24—12—40 W/C=55% #10% LR
£ 91—k WX |[E%F30— 8—25 W/C=55% #10% LR
£a2491)—k iEiX |&%F30—18—25 W/C=55% C=350kg #9100 L5
£ 91—k WEHEX |[E%F18— 5—40 W/C=60% #911% LR
£ 91—k g |[E%F18— 8—25 W/C=60% #911% LR
£ 91—k g |[E%F18— 8—40 W/C=60% #911% LR
£ 91—k WEHX |[E4F18— 8—25 W/C=<60% C=230kg £11% 5
£ 91—k WEHX |[E1F18— 8—40 W/C=<60% C=230kg £11% 5
£ 91—k WX |[E%F18—12—25 W/C=60% #911% LR
£ 91—k WX |[E%F18—12—40 W/C=60% #911% LR
£a2491)—k EiX |S1F18—12—25 W/C=60% C=230kg 119 L5
£a2491)—k EiX |S1F18—12—25 W/C=<60% C=270kg 119 L5
£a2491)—k iEihX |S1F18—12—40 W/C=<60% C=230kg 119 L5
£a2491)—k iEiX |S1F18—15—40 W/C=60% C=270kg £910% L5
£ 91—k g |[E%F21— 5—25 W/C=60% #9119 LR
£ 91—k WX |[E%F21— 5—40 W/C=60% #9119 LR
£ 91—k WX |[E%F18— 5—40 W/C=65% #9119 LR
£ 91—k WX |[E%F18— 8—25 W/C=65% #9119 LR
£ 91—k WX |[E%F18— 8—40 W/C=65% #9119 LR
£ 91—k WX |[E%F18—12—25 W/C=65% #9119 LR
£ 91—k WX |[E%F18—12—40 W/C=65% #9119 LR
£ 91—k WX |[E%F21— 5—40 W/C=65% #9119 LR
£ 91—k g |[E%F21— 8—40 W/C=65% #9119 LR
£ 91—k WX |[E%F21—12—40 W/C=65% #9119 LR
£ 91—k g |[E%F24— 5—40 W/C=65% #9119 LR
£ 91—k WX |[E%F24— 8—25 W/C=65% #9119 LR
£ 91—k g |[E%F24— 8—40 W/C=65% #9119 LR
£ 91—k WX |[E%F24—12—25 W/C=65% #9119 LR
£ 91—k WX |[E%F24—12—40 W/C=65% #9119 LR
£ 91—k X [#hIF45—25—40 £10% &
£ 91—k WX [#hF45—25—40 W/C=55% #10% &
£ 91—k X [#F45—65—40 W/C=55% #10% &
£ 91—k WEHEX |S%F BlF45—25—40 W/C=55% £10% &
£ 91—k WEHEX |S%F BlF45—65—40 W/C=55% £10% &
£a2 49—k R |2k 40-12-25 W/C=55% = ¥ BEAER K I 8% F 5
£a2 49—k SRR Ee| 30— 8—25 W/C=50% 5% 5
£a2 49—k SRR Ee| 30— 8—40 W/C=50% 5% 5
£a2 49—k SRR Ee| 30—12—25 W/C=50% 5% 5
£a2 49—k SRR e| 30—12—40 W/C=50% 5% 5
£a2 49—k SRR Ee| 21— 8—25 W/C=55% 5% 5
£a2 49—k SRR Ee| 21— 8—40 W/C=55% 5% 5
£a2 49—k SRR Ee| 21—12—25 W/C=55% 5% 5
£a2 49—k SRR Ee| 21—12—40 W/C=55% 5% 5
£a2 49—k SRR Ee| 24— 8—25 W/C=55% 5% 5
£a2 91—k SRR Ee| 24— 8—40 W/C=55% 5% 5
£a2 91—k SRR Ee| 24—12—25 W/C=55% 5% 5
£a2 91—k SRR E| 24—12—40 W/C=55% 5% 5
£a2 91—k SRR e| 30— 8—25 W/C=55% 5% 5
£a2 91—k SRR e| 30—12—25 W/C=55% 5% 5
£a291)—F =% HEE| 30—18—25 W/C=55% C=2350kg #95% + F
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pillEsis

SM7E18
WEME
£a2 49—k SRR e| 18— 8—25 W/C=60% 5% 5
£a2 91—k SRR Ee| 18— 8—40 W/C=60% 5% 5
£a291)—k EILEHMEE| 18— 8—25 W/C=60% C=230kg #95% £ 5
£a291)—k EILEHHMEE| 18— 8—40 W/C=60% C=230kg #95% £ 5
£a2 91—k SRR Ee| 18—12—25 W/C=60% 5% 5
£a2 91—k SRR Ee| 18—12—40 W/C=60% 5% 5
£a291)—k =SB BEE| 18—12—25 W/C=60% C=230kg #95% £ 5
£a291)—k =SB BEE| 18—12—40 W/C=60% C=230kg #95% £ 5
£a291)—k =SB BEE| 18—12—25 W/C=60% C=270kg #95% £ 5
£a291)—k =SB BEE| 18—12—40 W/C=60% C=270kg #95% £ 5
£a29)—Fk SRR Ee| 21— 5—25 W/C=60% 5% 5
£a29)—Fk SRR Ee| 24— 8—40 W/C=60% 5% 5
£a29)—Fk SRR Ee| 24—12—40 W/C=60% 5% 5
£a29)—Fk SRR Ee| 18— 5—40 W/C=65% 5% 5
£a29)—Fk SRR e| 18— 8—25 W/C=65% 5% 5
£a29)—Fk SLEGmREe| 18— 8—40 W/C=65% 5% 5
£a29)—Fk SRR Ee| 18—12—25 W/C=65% 5% 5
£a29)—Fk SRR Ee| 18—12—40 W/C=65% 5% 5
£a29)—Fk SRR Ee| 18—15—25 W/C=65% 5% 5
£a2 91—k SRR Ee| 18—18—25 W/C=65% 5% 5
£a2 91—k SRR Ee| 21— 5—40 W/C=65% 5% 5
£a2 91—k SRR Ee| 21— 8—25 W/C=65% 5% 5
£a2 91—k SRR Ee| 21— 8—40 W/C=65% 5% 5
£a2 91—k SRR Ee| 21—12—25 W/C=65% 5% 5
£a2 91—k SRR Ee| 21—12—40 W/C=65% 5% 5
£a2 91—k SRR Ee| 21—15—25 W/C=65% 5% 5
£a2 91—k SRR Ee| 21—18—25 W/C=65% 5% 5
£a2 91—k SRR E| 24— 8—25 W/C=65% 5% 5
£a2 91—k SRR E| 24—12—25 W/C=65% 5% 5
£a2 91—k SRR E| 24—12—40 W/C=65% 5% 5
£a2 49—k SRR Ee| 24—15—25 W/C=65% 5% 5
£a2 49—k SRR Ee| 24—18—25 W/C=65% 5% 5
£a2 49—k SRR Ee| 27—15—25 W/C=65% 5% 5
£a2 49—k SRR Ee| 27—18—25 W/C=65% 5% 5
£a2 49—k =ILEGRO| = %F30— 8—25 W/C=50% 5% 5
£a29)—k = LG RE| = %F30— 8—40 W/C=50% 5% 5
£a2 49—k =ILERRE| = %F30—12—25 W/C=50% 5% 5
£a2 49—k =GR E| = %F30—12—40 W/C=50% 5% 5
£a2 49—k SILERnRE| =521 — 8—25 W/C=55% 5% 5
£a2 49—k =ILERRE| =521 — 8—40 W/C=55% 5% 5
£a2 49—k SRR E| =121 —12—25 W/C=55% 5% 5
£a2 49—k SILERRE| =121 —12—40 W/C=55% 5% 5
£a2 49—k SILERnRE| = %F24— 8—25 W/C=55% 5% 5
£a2 49—k S ILERRE| =%F24— 8—40 W/C=55% 5% 5
£a2 49—k SRR E| = F24—12—25 W/C=55% 5% 5
£a2 49—k SILERRE| = F24—12—40 W/C=55% 5% 5
£a2 49—k =ILER RO = %F30— 8—25 W/C=55% 5% 5
£a2 49—k =LK E G| ZF30—18—25 W/C=55% C=350kg 5% 5
£a2 49—k SILERREO| = 18— 5—40 W/C=60% 5% 5
£a2 49—k SILERnRE| = 18— 8—25 W/C=60% 5% 5
£a2 49—k SILERRE| = 18— 8—40 W/C=60% 5% 5
£a291)—k EILEHMEE)| S F18— 8—25 W/C<60% C=230kg #95% £ 5
£a291)—k EILEHMEE)| S F18— 8—40 W/C=60% C=230kg #95% £ 5
£a2 91—k SRR E| = F18—12—25 W/C=60% 5% 5
£a2 91—k SILERREO| = F18—12—40 W/C=60% 5% 5
£a2 91—k SRR EF18—12—25 W/C=<60% C=230kg 5% 5
£a2 91—k SRR EF18—12—25 W/C=<60% C=270kg 5% 5
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pillEsis

SM7E18
WEME
£a2 49—k SRR EO|ZF18—12—40 W/C=60% C=230kg 5% 5
£a2 91—k =LK EEO|E F18—15—40 W/C=60% C=270kg 5% 5
£a2 91—k S ILERRE| 5521 — 5—25 W/C=60% 5% 5
£a2 91—k SILERRE| =521 — 5—40 W/C=60% 5% 5
£a2 91—k =ILERREO| = 18— 5—40 W/C=65% 5% 5
£a2 91—k SILERRE|=%F18— 8—25 W/C=65% 5% 5
£a2 91—k SILERnREO| = 18— 8—40 W/C=65% 5% 5
£a2 91—k SILERRE| = F18—12—25 W/C=65% 5% 5
£a2 91—k SILERRE| = F18—12—40 W/C=65% 5% 5
£a2 91—k S ILERRE| =521 — 5—40 W/C=65% 5% 5
£a29)—Fk =ILERRE| =521 — 8—40 W/C=65% 5% 5
£a29)—Fk =ILERRE| =521 —12—40 W/C=65% 5% 5
£a29)—Fk SILERRE| = %F24— 5—40 W/C=65% 5% 5
£a29)—Fk SILERRE| Z%F24— 8—25 W/C=65% 5% 5
£a29)—Fk SILERRE| Z%F24— 8—40 W/C=65% 5% 5
£a29)—Fk SILERRE)| = F24—12—25 W/C=65% 5% 5
£a29)—Fk =ILERRE)| = F24—12—40 W/C=65% 5% 5
£a291)—hk ELEHHEE|#(F45—2.5—40 #95% + F
£a29)—Fk =GR O|flF45—2.5—40 W/C=55% 5% 5
£a2 91—k =G RO flF45—6.5—40 W/C=55% 4% 5
£ 91—k ELEHEREE| S H(T45—25—40 W/C=55% 5% 5
£ 91—k ELEEREE|ZF H(T45—65—40 W/C=55% 4% 5
£a91)—k =L E G| Rk 40-12-25 W/C=55% = EEAERKF $94% 5
£a2 91—k SRR ?| 30— 8—25 W/C=50% 4% 5
£a2 91—k SRR ?| 30— 8—40 W/C=50% 4% 5
£a2 91—k SRR ?| 30—12—25 W/C=50% 4% 5
£a2 91—k SRR ?| 30—12—40 W/C=50% 4% 5
£a2 91—k SRR ?| 21— 8—25 W/C=55% 4% 5
£a2 91—k SRR ?| 21— 8—40 W/C=55% 4% 5
£a2 91—k SLERmR?| 21—12—25 W/C=55% 4% 5
£a2 49—k SRR ?| 21—12—40 W/C=55% 4% 5
£a2 49—k SRR ?| 24— 8—25 W/C=55% 4% 5
£a2 49—k SRR ?| 24— 8—40 W/C=55% 4% 5
£a2 49—k SRR ?| 24—12—25 W/C=55% 4% 5
£a2 49—k SRR ?| 24—12—40 W/C=55% 4% 5
£a29)—k SRR ?| 30— 8—25 W/C=55% 4% 5
£a2 49—k SRR ?| 30—12—25 W/C=55% 4% 5
£a291)—k =IEHBE?D] 30—18—25 W/C=55% C=350kg 4% £ 5
£a2 49—k SRR ?| 18— 8—25 W/C=60% 4% 5
£a2 49—k SRR ?| 18— 8—40 W/C=60% 4% 5
£a291)—k BLEHEHRED| 18— 8—25 W/C=60% C=230kg 4% £ 5
£a291)—k BLEHEHRE?| 18— 8—40 W/C=60% C=230kg 4% £ 5
£a2 49—k SRR ?| 18—12—25 W/C=60% 4% 5
£a2 49—k SRR ?| 18—12—40 W/C=60% 4% 5
£a291)—k EIEHBED] 18—12—25 W/C=60% C=230kg 4% £ 5
£a291)—k =IEHBED] 18—12—40 W/C=60% C=230kg 4% £ 5
£a291)—k EIEHBED] 18—12—25 W/C=60% C=270kg 4% £ 5
£a291)—k EIEHBE?D] 18—12—40 W/C=60% C=270kg 4% £ 5
£a2 49—k SRR ?D| 21— 5—25 W/C=60% 4% 5
£a2 49—k SRR ?| 24— 8—40 W/C=60% 4% 5
£a2 49—k SRR ?D| 24—12—40 W/C=60% 4% 5
£a2 91—k SRR ?| 18— 5—40 W/C=65% 4% 5
£a2 91—k SRR ?| 18— 8—25 W/C=65% 4% 5
£a2 91—k SRR ?| 18— 8—40 W/C=65% 4% 5
£a2 91—k SRR ?| 18—12—25 W/C=65% 4% 5
£a2 91—k SRR ?| 18—12—40 W/C=65% 4% 5
£a2 91—k SRR ?| 18—15—25 W/C=65% 4% 5
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SH7E18
WEME
£a2 49—k SRR ?| 18—18—25 W/C=65% 4% 5
£a2 91—k SRR ?D| 21— 5—40 W/C=65% 4% 5
£a2 91—k SRR ?| 21— 8—25 W/C=65% 4% 5
£a2 91—k SRR ?| 21— 8—40 W/C=65% 4% 5
£a2 91—k SRR ?| 21—12—25 W/C=65% 4% 5
£a2 91—k SLERmRER?| 21—12—40 W/C=65% 4% 5
£a2 91—k SRR ?| 21—15—25 W/C=65% 4% 5
£a2 91—k SRR ?| 21—18—25 W/C=65% 4% 5
£a2 91—k SRR ?| 24— 8—25 W/C=65% 4% 5
£a2 91—k SRR ?| 24—12—25 W/C=65% 4% 5
£a29)—Fk SRR ?| 24—12—40 W/C=65% 4% 5
£a29)—Fk SRR ?| 24—15—25 W/C=65% 4% 5
£a29)—Fk SRR ?| 24—18—25 W/C=65% 4% 5
£a29)—Fk SRR ?| 27—15—25 W/C=65% 4% 5
£a29)—Fk SLERmR?| 27—18—25 W/C=65% 4% 5
£a29)—Fk =ILERR | = %E30— 8—25 W/C=50% 4% 5
£a29)—Fk =ILERR | = %E30— 8—40 W/C=50% 4% 5
£a29)—Fk =ILERER D Z%E30—12—25 W/C=50% 4% 5
£a29)—Fk =ILERR D= %E30—12—40 W/C=50% 4% 5
£a2 91—k SRR Z%E21— 8—25 W/C=55% 4% 5
£a2 91—k SILERR | Z%E21— 8—40 W/C=55% 4% 5
£a2 91—k SRR ZKE21—12—25 W/C=55% 4% 5
£a2 91—k SRR Z%E21—12—40 W/C=55% 4% 5
£a2 91—k SRR Z%F24— 8—25 W/C=55% 4% 5
£a2 91—k SILERnR | Z%F24— 8—40 W/C=55% 4% 5
£a2 91—k SRR Z1F24—12—25 W/C=55% 4% 5
£a2 91—k SRR D Z K F24—12—40 W/C=55% 4% 5
£a2 91—k =ILERR | = %E30— 8—25 W/C=55% 4% 5
£a2 91—k =LK ED|EFE30—18—25 W/C=55% C=350kg 4% 5
£a2 91—k SRR Z 18— 5—40 W/C=60% 4% 5
£a2 49—k SRR Z%E18— 8—25 W/C=60% 4% 5
£a2 49—k SRR = 18— 8—40 W/C=60% 4% 5
£a291)—k ELEGRED| S E18— 8—25 W/C<60% C=230kg 4% £ 5
£a291)—k ELEGRED| S E18— 8—40 W/C=60% C=230kg 4% £ 5
£a2 49—k SRR Z E18—12—25 W/C=60% 4% 5
£a29)—k SRR Z E18—12—40 W/C=60% 4% 5
£a2 49—k SRR D|EIFE18—12—25 W/C=60% C=230kg 4% 5
£a2 49—k SRR D|EIFE18—12—25 W/C=<60% C=270kg 4% 5
£a2 49—k SRR D|E1F18—12—40 W/C=60% C=230kg 4% 5
£a2 49—k SRR D|E1F18—15—40 W/C=60% C=270kg 4% 5
£a2 49—k SRR Z%E21— 5—25 W/C=60% 4% 5
£a2 49—k SRR Z%E21— 5—40 W/C=60% 4% 5
£a2 49—k SRR | = 18— 5—40 W/C=65% 4% 5
£a2 49—k SRR | Z%F18— 8—25 W/C=65% 4% 5
£a2 49—k SRR | = 18— 8—40 W/C=65% 4% 5
£a2 49—k SRR Z E18—12—25 W/C=65% 4% 5
£a2 49—k SRR Z E18—12—40 W/C=65% 4% 5
£a2 49—k SRR D Z%E21— 5—40 W/C=65% 4% 5
£a2 49—k SRR | Z%E21— 8—40 W/C=65% 4% 5
£a2 49—k SRR Z %21 —12—40 W/C=65% 4% 5
£a2 49—k SRR D Z%F24— 5—40 W/C=65% 4% 5
£a2 91—k SRR D Z%F24— 8—25 W/C=65% 4% 5
£a2 91—k SRR D Z%F24— 8—40 W/C=65% 4% 5
£a2 91—k SRR ZKF24—12—25 W/C=65% 4% 5
£a2 91—k SRR D Z%F24—12—40 W/C=65% 4% 5
£a291)—k ELEFRHEO|#I(F45—2.5—40 #4% + 5
£a2 91—k =GR flF45—2.5—40 W/C=55% 4% 5
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pillEsis

SM7E18
WEME
£a2 49—k =GR flF45—6.5—40 W/C=55% 4% 5
£ 91—k ELEEHRED|EF H(F45—25—40 W/C=55% 4% £ 5
£ 91—k ELEERED|EF HI(T45—65—40 W/C=55% 4% £ 5
£a91)—k = LR DRk 40-12-25 W/C=Z55% = EEAERKF $94% 5
£a2 91—k SRR ®| 30— 8—25 W/C=50% 4% 5
£a2 91—k =GR ®| 30— 8—40 W/C=50% 4% 5
£a2 91—k SRR ®| 30—12—25 W/C=50% 4% 5
£a2 91—k SRR ®| 30—12—40 W/C=50% 4% 5
£a2 91—k SRR ®| 21— 8—25 W/C=55% 4% 5
£a2 91—k SLEGmRE®| 21— 8—40 W/C=55% 4% 5
£a29)—Fk SRR E| 21—12—25 W/C=55% 4% 5
£a29)—Fk SRR E®| 21—12—40 W/C=55% 4% 5
£a29)—Fk SLEGmRE®| 24— 8—25 W/C=55% 4% 5
£a29)—Fk SLEGmRE®| 24— 8—40 W/C=55% 4% 5
£a29)—Fk SRR E| 24—12—25 W/C=55% 4% 5
£a29)—Fk SRR E| 24—12—40 W/C=55% 4% 5
£a29)—Fk =GR ®| 30— 8—25 W/C=55% 4% 5
£a29)—Fk =GR ®| 30—12—25 W/C=55% 4% 5
£a291)—hk =B HE®] 30—18—25 W/C=55% C=2350kg 4% £ 5
£a2 91—k SLEGmRE®®| 18— 8—25 W/C=60% 4% 5
£a2 91—k SLEGmRE®| 18— 8—40 W/C=60% 4% 5
£a291)—k EILEHHMEE| 18— 8—25 W/C=60% C=230kg #4% £ 5
£a291)—k EILEHHMEEG| 18— 8—40 W/C=60% C=230kg #4% £ 5
£a2 91—k SLEgmREE®| 18—12—25 W/C=60% 4% 5
£a2 91—k SLEGmREE®| 18—12—40 W/C=60% 4% 5
£a291)—k =SB BE®] 18—12—25 W/C=60% C=230kg 4% £ 5
£a291)—k =SB BE®] 18—12—40 W/C=60% C=230kg 4% £ 5
£a291)—k =SB BE®] 18—12—25 W/C=60% C=270kg 4% £ 5
£a291)—k =SB HE®] 18—12—40 W/C=60% C=270kg 4% £ 5
£a2 91—k SRR E®| 21— 5—25 W/C=60% 4% 5
£a2 49—k SLEGmRE®| 24— 8—40 W/C=60% 4% 5
£a2 49—k SRR E| 24—12—40 W/C=60% 4% 5
£a2 49—k SLEGmRE®®| 18— 5—40 W/C=65% 4% 5
£a2 49—k SLEGmRE®®| 18— 8—25 W/C=65% 4% 5
£a2 49—k SLEGmRE®®| 18— 8—40 W/C=65% 4% 5
£a29)—k SLEGmRE®®| 18—12—25 W/C=65% 4% 5
£a2 49—k SLEgmREE®| 18—12—40 W/C=65% 4% 5
£a2 49—k SLEgmREE®| 18—15—25 W/C=65% 4% 5
£a2 49—k SLEgmRE®®| 18—18—25 W/C=65% 4% 5
£a2 49—k SRR ®| 21— 5—40 W/C=65% 4% 5
£a2 49—k SRR ®| 21— 8—25 W/C=65% 4% 5
£a2 49—k SRR ®| 21— 8—40 W/C=65% 4% 5
£a2 49—k SLERmREE| 21—12—25 W/C=65% 4% 5
£a2 49—k SRR E®| 21—12—40 W/C=65% 4% 5
£a2 49—k SRR E| 21—15—25 W/C=65% 4% 5
£a2 49—k SRR ®| 21—18—25 W/C=65% 4% 5
£a2 49—k SLEGmRE®| 24— 8—25 W/C=65% 4% 5
£a2 49—k SRR E| 24—12—25 W/C=65% 4% 5
£a2 49—k SRR E| 24—12—40 W/C=65% 4% 5
£a2 49—k SRR E| 24—15—25 W/C=65% 4% 5
£a2 49—k SRR ®| 24—18—25 W/C=65% 4% 5
£a2 91—k SRR E| 27—15—25 W/C=65% 4% 5
£a2 91—k SRR ®| 27—18—25 W/C=65% 4% 5
£a2 91—k = LG R®| = %F30— 8—25 W/C=50% 4% 5
£a2 91—k =L mRE®| = %F30— 8—40 W/C=50% 4% 5
£a2 91—k =GR E| = F30—12—25 W/C=50% 4% 5
£a2 91—k =ILERRO| = F30—12—40 W/C=50% 4% 5
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£a2 49—k =ILERnRE| =521 — 8—25 W/C=55% 4% 5
£a2 91—k =ILERmRO| =521 — 8—40 W/C=55% 4% 5
£a2 91—k SILERRE|Z 21 —12—25 W/C=55% 4% 5
£a2 91—k SILERRE| = 21 —12—40 W/C=55% 4% 5
£a2 91—k SILERnRE| = %F24— 8—25 W/C=55% 4% 5
£a2 91—k = ILERmRO| = %F24— 8—40 W/C=55% 4% 5
£a2 91—k SILERRE| Z F24—12—25 W/C=55% 4% 5
£a2 91—k SILERRE| = F24—12—40 W/C=55% 4% 5
£a2 91—k =ILEGmR®| = %F30— 8—25 W/C=55% 4% 5
£a2 91—k =LK EO)|EF30—18—25 W/C=55% C=350kg 4% 5
£a29)—Fk =ILERmRO| = 18— 5—40 W/C=60% 4% 5
£a29)—Fk SILERnRE| = 18— 8—25 W/C=60% 4% 5
£a29)—Fk =ILERmRO| = 18— 8—40 W/C=60% 4% 5
£a291)—hk EILEHMEG| S F18— 8—25 W/C=60% C=230kg 4% £ 5
£a291)—hk EILEHMEG| S F18— 8—40 W/C=60% C=230kg 4% £ 5
£a29)—Fk SILERRE|Z F18—12—25 W/C=60% 4% 5
£a29)—Fk SILERRE| = E18—12—40 W/C=60% 4% 5
£a29)—Fk SR O|EF18—12—25 W/C=<60% C=230kg 4% 5
£a29)—Fk SR O|EF18—12—25 W/C=<60% C=270kg 4% 5
£a2 91—k =LK EO|EF18—12—40 W/C=60% C=230kg 4% 5
£a2 91—k =LK EO)|E F18—15—40 W/C=60% C=270kg 4% 5
£a2 91—k =ILERRE|Z 21— 5—25 W/C=60% 4% 5
£a2 91—k = ILERRE| =521 — 5—40 W/C=60% 4% 5
£a2 91—k = ILERmRE| = 18— 5—40 W/C=65% 4% 5
£a2 91—k SILERmRE| = 18— 8—25 W/C=65% 4% 5
£a2 91—k =ILERRO| = 18— 8—40 W/C=65% 4% 5
£a2 91—k SILERRE| = F18—12—25 W/C=65% 4% 5
£a2 91—k SILERRE| = F18—12—40 W/C=65% 4% 5
£a2 91—k = ILERmRE| =521 — 5—40 W/C=65% 4% 5
£a2 91—k = ILERRE| =521 — 8—40 W/C=65% 4% 5
£a2 49—k =GR E| = %21 —12—40 W/C=65% 4% 5
£a2 49—k = ILEGRE| = 24— 5—40 W/C=65% 4% 5
£a2 49—k S ILERRE| = 24— 8—25 W/C=65% 4% 5
£a2 49—k =ILEGnRE| = %F24— 8—40 W/C=65% 4% 5
£a2 49—k =ILERRE| Z F24—12—25 W/C=65% 4% 5
£a29)—k = ILERRE| = F24—12—40 W/C=65% 4% 5
£a291)—k ELEHEE|#(F45—2.5—40 #4% + 5
£a2 49—k =L R@|flF45—2.5—40 W/C=55% 4% 5
£a2 49—k =L RE@|flF45—6.5—40 W/C=55% 4% 5
£ 91—k LSRRG H(T45—25—40 W/C=55% 4% 5
£ 91—k ELEHREG| = HI(T45—65—40 W/C=55% 4% 5
£a91)—k =L E G| Rk 40-12-25 W/C=Z55% = EEAERKH $93% L7
£a2 49—k SRR 30— 8—25 W/C=50% 5% 5
£a2 49—k SRR 30— 8—40 W/C=50% 5% 5
£a2 49—k SRR 30—12—25 W/C=50% 5% 5
£a2 49—k SRR 30—12—40 W/C=50% 5% 5
£a2 49—k SRR 21— 8—25 W/C=55% 5% 5
£a2 49—k SRR 21— 8—40 W/C=55% 5% 5
£a2 49—k SRR 21—12—25 W/C=55% 5% 5
£a2 49—k SRR 21—12—40 W/C=55% 5% 5
£a2 49—k SRR 24— 8—25 W/C=55% 5% 5
£a2 91—k SRR 24— 8—40 W/C=55% 5% 5
£a2 91—k SRR 24—12—25 W/C=55% 5% 5
£a2 91—k SRR 24—12—40 W/C=55% 5% 5
£a2 91—k SRR 30— 8—25 W/C=55% 5% 5
£a2 91—k SRR 30—12—25 W/C=55% 5% 5
£a291)—k =SB BEQ| 30—18—25 W/C=55% C=350kg #95% £ 5
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£a2 49—k SRR 18— 8—25 W/C=60% 5% 5
£a2 91—k SRR 18— 8—40 W/C=60% 5% 5
£a291)—k BILEHEHREQ| 18— 8—25 W/C=60% C=230kg #95% £ 5
£a291)—k BILEHEHMEQ| 18— 8—40 W/C=60% C=230kg #95% £ 5
£a2 91—k SRR 18—12—25 W/C=60% 5% 5
£a2 91—k SRR 18—12—40 W/C=60% 5% 5
£a291)—k EIEHBEQ| 18—12—25 W/C=60% C=230kg #95% £ 5
£a291)—k =SB BEQ] 18—12—40 W/C=60% C=230kg #95% £ 5
£a291)—k =IEHBEQ| 18—12—25 W/C=60% C=270kg #95% £ 5
£a291)—k =SB BEQ] 18—12—40 W/C=60% C=270kg #95% £ 5
£a29)—Fk SRR 21— 5—25 W/C=60% 5% 5
£a29)—Fk SRR 24— 8—40 W/C=60% 5% 5
£a29)—Fk SRR 24—12—40 W/C=60% 5% 5
£a29)—Fk SRR 18— 5—40 W/C=65% 5% 5
£a29)—Fk SRR 18— 8—25 W/C=65% 5% 5
£a29)—Fk SRR 18— 8—40 W/C=65% 5% 5
£a29)—Fk SRR 18—12—25 W/C=65% 5% 5
£a29)—Fk SRR 18—12—40 W/C=65% 5% 5
£a29)—Fk SRR 18—15—25 W/C=65% 5% 5
£a2 91—k SRR 18—18—25 W/C=65% 5% 5
£a2 91—k SRR 21— 5—40 W/C=65% 5% 5
£a2 91—k SRR 21— 8—25 W/C=65% 5% 5
£a2 91—k SRR 21— 8—40 W/C=65% 5% 5
£a2 91—k SRR 21—12—25 W/C=65% 5% 5
£a2 91—k SRR 21—12—40 W/C=65% 5% 5
£a2 91—k SRR 21—15—25 W/C=65% 5% 5
£a2 91—k SRR 21—18—25 W/C=65% 5% 5
£a2 91—k SRR 24— 8—25 W/C=65% 5% 5
£a2 91—k SRR 24—12—25 W/C=65% 5% 5
£a2 91—k SRR 24—12—40 W/C=65% 5% 5
£a2 49—k SRR 24—15—25 W/C=65% 5% 5
£a2 49—k SRR 24—18—25 W/C=65% 5% 5
£a2 49—k SRR 27—15—25 W/C=65% 5% 5
£a2 49—k SRR 27—18—25 W/C=65% 5% 5
£a2 49—k = ILERRQ|=%E30— 8—25 W/C=50% 5% 5
£a29)—k = LR mRQ|=%E30— 8—40 W/C=50% 5% 5
£a2 49—k =ILERBRQ|Z%E30—12—25 W/C=50% 5% 5
£a2 49—k =GR Z%E30—12—40 W/C=50% 5% 5
£a2 49—k SILERRQ|Z%E21— 8—25 W/C=55% 5% 5
£a2 49—k SILERnRQ|Z%E21— 8—40 W/C=55% 5% 5
£a2 49—k SRR Z 21 —12—25 W/C=55% 5% 5
£a2 49—k SRR Z 21 —12—40 W/C=55% 5% 5
£a2 49—k SILERRQ| Z%F24— 8—25 W/C=55% 5% 5
£a2 49—k SILERnRQ| Z%F24— 8—40 W/C=55% 5% 5
£a2 49—k SRR Z F24—12—25 W/C=55% 5% 5
£a2 49—k SRR Z F24—12—40 W/C=55% 5% 5
£a2 49—k =ILERRQ|=%E30— 8—25 W/C=55% 5% 5
£a2 49—k =LK RQ|EFE30—18—25 W/C=55% C=350kg 5% 5
£a2 49—k SILERRQ|Z 18— 5—40 W/C=60% 5% 5
£a2 49—k SILERRQ|Z%E18— 8—25 W/C=60% 5% 5
£a2 49—k SILERRQ|=%E18— 8—40 W/C=60% 5% 5
£a291)—k EILESREQ| S F18— 8—25 W/C=60% C=230kg #95% £ 5
£a291)—k EILESREQ| S 18— 8—40 W/C=60% C=230kg #95% £ 5
£a2 91—k SRR Z F18—12—25 W/C=60% 5% 5
£a2 91—k SILERBERQ|Z E18—12—40 W/C=60% 5% 5
£a2 91—k SRR Q|EF18—12—25 W/C=60% C=230kg 5% 5
£a2 91—k SRR Q|EIF18—12—25 W/C<60% C=270kg 5% 5
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£a2 49—k SRR Q|EF18—12—40 W/C=<60% C=230kg 5% 5
£a2 91—k SRR E F18—15—40 W/C=60% C=270kg 5% 5
£a2 91—k SILERRQ|Z%E21— 5—25 W/C=60% 5% 5
£a2 91—k SILERRQ|Z%E21— 5—40 W/C=60% 5% 5
£a2 91—k SRR = 18— 5—40 W/C=65% 5% 5
£a2 91—k SILERRQ|Z%E18— 8—25 W/C=65% 5% 5
£a2 91—k SILERnRQ|=%F18— 8—40 W/C=65% 5% 5
£a2 91—k SRR Z F18—12—25 W/C=65% 5% 5
£a2 91—k SRR Z F18—12—40 W/C=65% 5% 5
£a2 91—k SRR Z%E21— 5—40 W/C=65% 5% 5
£a29)—Fk SILERnRQ|Z%E21— 8—40 W/C=65% 5% 5
£a29)—Fk SRR Z 21 —12—40 W/C=65% 5% 5
£a29)—Fk SILERnRQ|Z%F24— 5—40 W/C=65% 5% 5
£a29)—Fk SRR Z%F24— 8—25 W/C=65% 5% 5
£a29)—Fk SILERnRQ| Z%F24— 8—40 W/C=65% 5% 5
£a29)—Fk SILERRQ| Z F24—12—25 W/C=65% 5% 5
£a29)—Fk SRR E%F24—12—40 W/C=65% 5% 5
£a291)—hk ELEHHEQ|#I(F45—2.5—40 #95% + F
£a29)—Fk =GR Q|flF45—2.5—40 W/C=55% 5% 5
£a2 91—k =G RQ|flF45—6.5—40 W/C=55% 5% 5
£ 91—k ELEERRQ| Y HI(T45—25—40 W/C=55% 5% 5
£ 91—k ELEEREQ|EF HI(T45—65—40 W/C=55% 5% 5
£a91)—k =R Q| Rk 40-12-25 W/C=Z55% = EEAER K F $94% 5
£a2 91—k SLERmREQ| 30— 8—25 W/C=50% 4% 5
£a2 91—k SRR OQ| 30— 8—40 W/C=50% 4% 5
£a2 91—k SLERmROQ| 30—12—25 W/C=50% 4% 5
£a2 91—k SLERmROQ| 30—12—40 W/C=50% 4% 5
£a2 91—k SLERmROQ| 21— 8—25 W/C=55% 4% 5
£a2 91—k SLERmROQ| 21— 8—40 W/C=55% 4% 5
£a2 91—k SLERmROQ| 21—12—25 W/C=55% 4% 5
£a2 49—k SLERmROQ| 21—12—40 W/C=55% 4% 5
£a2 49—k SLERmROQ| 24— 8—25 W/C=55% 4% 5
£a2 49—k SLERmROQ| 24— 8—40 W/C=55% 4% 5
£a2 49—k SRR OQ| 24—12—25 W/C=55% 4% 5
£a2 49—k SLERmROQ| 24—12—40 W/C=55% 4% 5
£a29)—k SLERmROQ| 30— 8—25 W/C=55% 4% 5
£a2 49—k SLERmREOQ| 30—12—25 W/C=55% 4% 5
£a291)—k =B BEO] 30—18—25 W/C=55% C=350kg 4% £ 5
£a2 49—k SRR OQ| 18— 8—25 W/C=60% 4% 5
£a2 49—k SRR Q| 18— 8—40 W/C=60% 4% 5
£a291)—k BILEHHMEOQ| 18— 8—25 W/C=60% C=230kg 4% £ 5
£a291)—k EILEHHMEOQ| 18— 8—40 W/C=60% C=230kg 4% £ 5
£a2 49—k SLERmROQ| 18—12—25 W/C=60% 4% 5
£a2 49—k SLERmROQ| 18—12—40 W/C=60% 4% 5
£a291)—k =SB BEO] 18—12—25 W/C=60% C=230kg 4% £ 5
£a291)—k =SB BEO] 18—12—40 W/C=60% C=230kg 4% £ 5
£a291)—k =SB BEO] 18—12—25 W/C=60% C=270kg 4% £ 5
£a291)—k =SB BEO] 18—12—40 W/C=60% C=270kg 4% £ 5
£a2 49—k SLERmROQ| 21— 5—25 W/C=60% 4% 5
£a2 49—k SRR OQ| 24— 8—40 W/C=60% 4% 5
£a2 49—k SLERmROQ| 24—12—40 W/C=60% 4% 5
£a2 91—k SLERmRQ| 18— 5—40 W/C=65% 4% 5
£a2 91—k SRR OQ| 18— 8—25 W/C=65% 4% 5
£a2 91—k SRR Q| 18— 8—40 W/C=65% 4% 5
£a2 91—k SLERmROQ| 18—12—25 W/C=65% 4% 5
£a2 91—k SLERmROQ| 18—12—40 W/C=65% 4% 5
£a2 91—k SLERmRQ| 18—15—25 W/C=65% 4% 5
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£a2 49—k SLERmROQ| 18—18—25 W/C=65% 4% 5
£a2 91—k SLERmROQ| 21— 5—40 W/C=65% 4% 5
£a2 91—k SLERmROQ| 21— 8—25 W/C=65% 4% 5
£a2 91—k SLERmROQ| 21— 8—40 W/C=65% 4% 5
£a2 91—k SLERmROQ| 21—12—25 W/C=65% 4% 5
£a2 91—k SLERmRO| 21—12—40 W/C=65% 4% 5
£a2 91—k SLERmROQ| 21—15—25 W/C=65% 4% 5
£a2 91—k SLERmROQ| 21—18—25 W/C=65% 4% 5
£a2 91—k SRR OQ| 24— 8—25 W/C=65% 4% 5
£a2 91—k SRR OQ| 24—12—25 W/C=65% 4% 5
£a29)—Fk SLERmROQ| 24—12—40 W/C=65% 4% 5
£a29)—Fk SRR OQ| 24—15—25 W/C=65% 4% 5
£a29)—Fk SRR OQ| 24—18—25 W/C=65% 4% 5
£a29)—Fk SLERmROQ| 27—15—25 W/C=65% 4% 5
£a29)—Fk SRR OQ| 27—18—25 W/C=65% 4% 5
£a29)—Fk =ILERROQ|=%E30— 8—25 W/C=50% 4% 5
£a29)—Fk =ILERR Q| =%E30— 8—40 W/C=50% 4% 5
£a29)—Fk =ILERRO|Z%E30—12—25 W/C=50% 4% 5
£a29)—Fk =GR O| = %E30—12—40 W/C=50% 4% 5
£a2 91—k SILERnRO|Z%E21— 8—25 W/C=55% 4% 5
£a2 91—k SILERnROQ| =521 — 8—40 W/C=55% 4% 5
£a2 91—k SRR O|Z 21 —12—25 W/C=55% 4% 5
£a2 91—k SILERBRO|Z %21 —12—40 W/C=55% 4% 5
£a2 91—k SILERnRO|Z%F24— 8—25 W/C=55% 4% 5
£a2 91—k SILERnROQ| = %F24— 8—40 W/C=55% 4% 5
£a2 91—k SILERRO|Z1F24—12—25 W/C=55% 4% 5
£a2 91—k SRR O|Z%F24—12—40 W/C=55% 4% 5
£a2 91—k =ILERROQ|=%E30— 8—25 W/C=55% 4% 5
£a2 91—k =LK IE Q| EF30—18—25 W/C=55% C=350kg 4% 5
£a2 91—k SILERnRO| = 18— 5—40 W/C=60% 4% 5
£a2 49—k SILERnRO| = 18— 8—25 W/C=60% 4% 5
£a2 49—k SRR O|=%F18— 8—40 W/C=60% 4% 5
£a291)—k EILEHREO| S F18— 8—25 W/C<60% C=230kg 4% £ 5
£a291)—k EILEHREO|E 18— 8—40 W/C=60% C=230kg 4% £ 5
£a2 49—k SILERBRO|Z E18—12—25 W/C=60% 4% 5
£a29)—k SRR O| = E18—12—40 W/C=60% 4% 5
£a2 49—k SRR O|EF18—12—25 W/C=60% C=230kg 4% 5
£a2 49—k SRR O|EF18—12—25 W/C=60% C=270kg 4% 5
£a2 49—k SRR O|EF18—12—40 W/C=60% C=230kg 4% 5
£a2 49—k SR O|E F18—15—40 W/C=60% C=270kg 4% 5
£a2 49—k SILERRO|Z%E21— 5—25 W/C=60% 4% 5
£a2 49—k SILERRO|Z%E21— 5—40 W/C=60% 4% 5
£a2 49—k SILERnRO| = 18— 5—40 W/C=65% 4% 5
£a2 49—k SILERRO| = 18— 8—25 W/C=65% 4% 5
£a2 49—k SILERnRO| = 18— 8—40 W/C=65% 4% 5
£a2 49—k SRR O|Z F18—12—25 W/C=65% 4% 5
£a2 49—k SRR O| = E18—12—40 W/C=65% 4% 5
£a2 49—k SILERRO|Z%E21— 5—40 W/C=65% 4% 5
£a2 49—k SILERRO|Z%E21— 8—40 W/C=65% 4% 5
£a2 49—k SRR O|Z %21 —12—40 W/C=65% 4% 5
£a2 49—k SILERROQ|Z%F24— 5—40 W/C=65% 4% 5
£a2 91—k SILERRO|Z%F24— 8—25 W/C=65% 4% 5
£a2 91—k SILERnROQ|Z%F24— 8—40 W/C=65% 4% 5
£a2 91—k SRR O|Z%F24—12—25 W/C=65% 4% 5
£a2 91—k SRR O|Z%F24—12—40 W/C=65% 4% 5
£a291)—k ELEHHEO|HI(F45—2.5—40 #4% + 5
£a2 91—k =GR Q|flF45—2.5—40 W/C=55% 4% 5
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£a2 49—k =GR OQ|flF45—6.5—40 W/C=55% 4% 5
£ 91—k ELEEREO| = HI(T45—25—40 W/C=55% 4% £ 5
£ 91—k ELEHEREO| = HI(T45—65—40 W/C=55% 4% £ 5
£a91)—k = LXK Q| Rk 40-12-25 W/C=Z55% = EEAERKF $94% 5
£a2 91—k =GR 30— 8—25 W/C=50% 4% 5
£a2 91—k =GR 30— 8—40 W/C=50% 4% 5
£a2 91—k =GR 30—12—25 W/C=50% 4% 5
£a2 91—k =L mRM  30—12—40 W/C=50% 4% 5
£a2 91—k SILERmRD 21— 8—25 W/C=55% 4% 5
£a2 91—k SILERmR®D 21— 8—40 W/C=55% 4% 5
£a29)—Fk =GR 21—12—25 W/C=55% 4% 5
£a29)—Fk =GR 21—12—40 W/C=55% 4% 5
£a29)—Fk =L mRD 24— 8—25 W/C=55% 4% 5
£a29)—Fk =GR 24— 8—40 W/C=55% 4% 5
£a29)—Fk SRR 24—12—25 W/C=55% 4% 5
£a29)—Fk =GR 24—12—40 W/C=55% 4% 5
£a29)—Fk =L mREM 30— 8—25 W/C=55% 4% 5
£a29)—Fk =GR 30—12—25 W/C=55% 4% 5
£a291)—hk =B mEO] 30—18—25 W/C=55% C=350kg 4% £ 5
£a2 91—k =L mREM 18— 8—25 W/C=60% 4% 5
£a2 91—k =L mREM 18— 8—40 W/C=60% 4% 5
£a291)—k BILEHHMED] 18— 8—25 W/C=60% C=230kg #4% £ 5
£a291)—k BILEHHMED| 18— 8—40 W/C=60% C=230kg #4% £ 5
£a2 91—k =L mR®D 18—12—25 W/C=60% 4% 5
£a2 91—k =L mRD 18—12—40 W/C=60% 4% 5
£a291)—k =SB BEO] 18—12—25 W/C=60% C=230kg 4% £ 5
£a291)—k =B BEO] 18—12—40 W/C=60% C=230kg 4% £ 5
£a291)—k =SB BEO] 18—12—25 W/C=60% C=270kg 4% £ 5
£a291)—k =SB BEO] 18—12—40 W/C<60% C=270kg 4% £ 5
£a2 91—k SR mRD 21— 5—25 W/C=60% 4% 5
£a2 49—k =L mR®D 24— 8—40 W/C=60% 4% 5
£a2 49—k =GR 24—12—40 W/C=60% 4% 5
£a2 49—k =L mRM 18— 5—40 W/C=65% 4% 5
£a2 49—k =L mRM 18— 8—25 W/C=65% 4% 5
£a2 49—k =L mREM 18— 8—40 W/C=65% 4% 5
£a29)—k =L mRD 18—12—25 W/C=65% 4% 5
£a2 49—k =L mRM 18—12—40 W/C=65% 4% 5
£a2 49—k =L mRM 18—15—25 W/C=65% 4% 5
£a2 49—k =L mREM 18—18—25 W/C=65% 4% 5
£a2 49—k SR mRD 21— 5—40 W/C=65% 4% 5
£a2 49—k SRR 21— 8—25 W/C=65% 4% 5
£a2 49—k SR mR®D 21— 8—40 W/C=65% 4% 5
£a2 49—k =GR 21—12—25 W/C=65% 4% 5
£a2 49—k =GR 21—12—40 W/C=65% 4% 5
£a2 49—k =GR 21—15—25 W/C=65% 4% 5
£a2 49—k =GR 21—18—25 W/C=65% 4% 5
£a2 49—k SRR 24— 8—25 W/C=65% 4% 5
£a2 49—k =GR 24—12—25 W/C=65% 4% 5
£a2 49—k =GR 24—12—40 W/C=65% 4% 5
£a2 49—k =GR 24—15—25 W/C=65% 4% 5
£a2 49—k =GR 24—18—25 W/C=65% 4% 5
£a2 91—k =GR 27—15—25 W/C=65% 4% 5
£a2 91—k =GR 27—18—25 W/C=65% 4% 5
£a2 91—k =L RO| = %E30— 8—25 W/C=50% 4% 5
£a2 91—k =L = %E30— 8—40 W/C=50% 4% 5
£a2 91—k =GR O| Z%E30—12—25 W/C=50% 4% 5
£a2 91—k =L RO| = %E30—12—40 W/C=50% 4% 5

16 / 39 R—T

% :0.5%RFEDEMDIZATHIZ .
0.5%K D HDDIHE TR ERE




pillEsis

SH7E18
WEME
£a2 49—k =ILER RO Z%E21— 8—25 W/C=55% 4% 5
£a2 91—k =L mRO| =521 — 8—40 W/C=55% 4% 5
£a2 91—k =GR O|Z %21 —12—25 W/C=55% 4% 5
£a2 91—k =R RO|Z %21 —12—40 W/C=55% 4% 5
£a2 91—k =GR O| Z%F24— 8—25 W/C=55% 4% 5
£a2 91—k =L mRO| 5 %F24— 8—40 W/C=55% 4% 5
£a2 91—k =GR O| Z1F24—12—25 W/C=55% 4% 5
£a2 91—k =GR O| Z%F24—12—40 W/C=55% 4% 5
£a2 91—k =L R O = %F30— 8—25 W/C=55% 4% 5
£a2 91—k =L R | = F30—18—25 W/C=55% C=350kg 4% 5
£a29)—Fk =GR O|Z%E18— 5—40 W/C=60% 4% 5
£a29)—Fk =GR O|Z%F18— 8—25 W/C=60% 4% 5
£a29)—Fk =L mRO| Z%E18— 8—40 W/C=60% 4% 5
£a291)—hk EILEHMEO| S E18— 8—25 W/C<60% C=230kg 4% £ 5
£a291)—hk EILEHMEO| S 18— 8—40 W/C=60% C=230kg 4% £ 5
£a29)—Fk =ILERRO|Z1E18—12—25 W/C=60% 4% 5
£a29)—Fk =ILERRO| = E18—12—40 W/C=60% 4% 5
£a29)—Fk =R ZFE18—12—25 W/C<60% C=230kg 4% 5
£a29)—Fk =LK RO ZFE18—12—25 W/C<60% C=270kg 4% 5
£a2 91—k =R Z1F18—12—40 W/C=<60% C=230kg 4% 5
£a2 91—k =R Z1F18—15—40 W/C=60% C=270kg 4% 5
£a2 91—k =LK RO| Z%E21— 5—25 W/C=60% 4% 5
£a2 91—k =R RO| Z %21 — 5—40 W/C=60% 4% 5
£a2 91—k =L RO Z%F18— 5—40 W/C=65% 4% 5
£a2 91—k =ILERRO| Z%F18— 8—25 W/C=65% 4% 5
£a2 91—k =GR =%F18— 8—40 W/C=65% 4% 5
£a2 91—k =GR O| Z E18—12—25 W/C=65% 4% 5
£a2 91—k =GR O| = E18—12—40 W/C=65% 4% 5
£a2 91—k =L RO| Z%E21— 5—40 W/C=65% 4% 5
£a2 91—k =L mRO| =521 — 8—40 W/C=65% 4% 5
£a2 49—k =L RO| Z %21 —12—40 W/C=65% 4% 5
£a2 49—k =L RO Z%F24— 5—40 W/C=65% 4% 5
£a2 49—k =GR O| Z%F24— 8—25 W/C=65% 4% 5
£a2 49—k =L RO Z%F24— 8—40 W/C=65% 4% 5
£a2 49—k =L RO| Z5F24—12—25 W/C=65% 4% 5
£a29)—k =L RO| Z%F24—12—40 W/C=65% 4% 5
£a291)—k EILEHEO|#(F45—2.5—40 #4% + 5
£a2 49—k =L RO pEF45—2.5—40 W/C=55% 4% 5
£a2 49—k =L RO fEF45—6.5—40 W/C=55% 4% 5
£ 91—k ELEHEREO| S #F45—25—40 W/C=55% 4% 5
£ 91—k ELEEREO| S #H(F45—65—40 W/C=55% 4% 5
£a91)—k = L% X | Rk 40-12-25 W/C=Z55% = EEAER K F $93% L7
£a2 49—k KEEFMRED| 30— 8—25 W/C=50% 5% 5
£a2 49—k KEEKMED| 30— 8—40 W/C=50% 5% 5
£a2 49—k KEEFBRED| 30—12—25 W/C=50% 5% 5
£a2 49—k KEEFBRED| 30—12—40 W/C=50% 5% 5
£a2 49—k KEEFMRED| 21— 8—25 W/C=55% 5% 5
£a2 49—k KEERMRED| 21— 8—40 W/C=55% 5% 5
£a2 49—k KEEFBRERD| 21—12—25 W/C=55% 5% 5
£a2 49—k KEEFBRED| 21—12—40 W/C=55% 5% 5
£a2 49—k KEERMRERD| 24— 8—25 W/C=55% 5% 5
£a2 91—k KEERMRERD| 24— 8—40 W/C=55% 5% 5
£a2 91—k KEEFMRED| 24—12—25 W/C=55% 5% 5
£a2 91—k KEEFMRED| 24—12—40 W/C=55% 5% 5
£a2 91—k KEERMED| 30— 8—25 W/C=55% 5% 5
£a2 91—k KEERMRED| 30—12—25 W/C=55% 5% 5
£a291)—k KEHEBHMED] 30—18—25 W/C=55% C=350kg 4% £ 5
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£a2 49—k KEEFMRED| 18— 8—25 W/C=60% 5% 5
£a2 91—k KEERMRED| 18— 8—40 W/C=60% 5% 5
£a291)—k KEFHMED| 18— 8—25 W/C=60% C=230kg #95% £ 5
£a291)—k KEFHMED| 18— 8—40 W/C=60% C=230kg #95% £ 5
£a2 91—k KEEFBMRED| 18—12—25 W/C=60% 5% 5
£a2 91—k KEEFMRED| 18—12—40 W/C=60% 5% 5
£a291)—k KEHHMED] 18—12—25 W/C=60% C=230kg #95% £ 5
£a291)—k KEHEHMED] 18—12—40 W/C=60% C=230kg #95% £ 5
£a291)—k KEHEBHMED] 18—12—25 W/C=60% C=270kg #95% £ 5
£a291)—k KEHEHMED] 18—12—40 W/C=60% C=270kg #95% £ 5
£a29)—Fk KEEFRBRED| 21— 5—25 W/C=60% 5% 5
£a29)—Fk KEERMRED| 24— 8—40 W/C=60% 5% 5
£a29)—Fk KEEFMRED| 24—12—40 W/C=60% 5% 5
£a29)—Fk KEERMRED| 18— 5—40 W/C=65% 5% 5
£a29)—Fk KEERMRED| 18— 8—25 W/C=65% 5% 5
£a29)—Fk KEERMED| 18— 8—40 W/C=65% 5% 5
£a29)—Fk KEEFMRED| 18—12—25 W/C=65% 5% 5
£a29)—Fk KEEFMRED| 18—12—40 W/C=65% 5% 5
£a29)—Fk KEEFMRED| 18—15—25 W/C=65% 5% 5
£a2 91—k KEEKMRED| 18—18—25 W/C=65% 5% 5
£a2 91—k KEEFRBMRED| 21— 5—40 W/C=65% 5% 5
£a2 91—k KEEFBMRED| 21— 8—25 W/C=65% 5% 5
£a2 91—k KEEFBMRED| 21— 8—40 W/C=65% 5% 5
£a2 91—k KEEFBRED| 21—12—25 W/C=65% 5% 5
£a2 91—k KEEFBRED| 21—12—40 W/C=65% 5% 5
£a2 91—k KEEFBRED| 21—15—25 W/C=65% 5% 5
£a2 91—k KEEFMRED| 21—18—25 W/C=65% 5% 5
£a2 91—k KEERMRERD| 24— 8—25 W/C=65% 5% 5
£a2 91—k KEEFMRED| 24—12—25 W/C=65% 5% 5
£a2 91—k KEEFMRED| 24—12—40 W/C=65% 5% 5
£a2 49—k KEEFMRED| 24—15—25 W/C=65% 5% 5
£a2 49—k KEEFMRED| 24—18—25 W/C=65% 5% 5
£a2 49—k KEEFMRERD| 27—15—25 W/C=65% 5% 5
£a2 49—k KEEFMRERD| 27—18—25 W/C=65% 5% 5
£a2 49—k K RERRED|Z%E30— 8—25 W/C=50% 5% 5
£a29)—k K REFIRED| = %E30— 8—40 W/C=50% 5% 5
£a2 49—k K RERRD|E K E30—12—25 W/C=50% 5% 5
£a2 49—k K RERRD|Z E30—12—40 W/C=50% 5% 5
£a2 49—k K RERRED|Z%E21— 8—25 W/C=55% 5% 5
£a2 49—k K RERRED|Z%E21— 8—40 W/C=55% 5% 5
£a2 49—k K RERBRD|Z 21 —12—25 W/C=55% 5% 5
£a2 49—k K RERBRD|Z 21 —12—40 W/C=55% 5% 5
£a2 49—k K RERRED|Z%F24— 8—25 W/C=55% 5% 5
£a2 49—k K RERRED|Z%F24— 8—40 W/C=55% 5% 5
£a2 49—k K RERRD|ZKF24—12—25 W/C=55% 5% 5
£a2 49—k K RERRD|ZKF24—12—40 W/C=55% 5% 5
£a2 49—k K RERRED|Z%E30— 8—25 W/C=55% 5% 5
£a2 49—k KRR D|ZFE30—18—25 W/C=55% C=350kg 4% 5
£a2 49—k K RERRED|Z 18— 5—40 W/C=60% 5% 5
£a2 49—k K RERRED|Z 18— 8—25 W/C=60% 5% 5
£a2 49—k K RERRED|Z 18— 8—40 W/C=60% 5% 5
£a291)—k KRR D| S E18— 8—25 W/C=60% C=230kg #95% £ 5
£a291)—k KRR D|E E18— 8—40 W/C=60% C=230kg #95% £ 5
£a2 91—k KRERBRD|Z E18—12—25 W/C=60% 5% 5
£a2 91—k KRERBRD|Z E18—12—40 W/C=60% 5% 5
£a2 91—k KEEKED|EIF18—12—25 W/C=<60% C=230kg 5% 5
£a2 91—k KEEKED|EIF18—12—25 W/C=<60% C=270kg 5% 5
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£a2 49—k KEEKED|EIF18—12—40 W/C=60% C=230kg 5% 5
£a2 91—k KEEKED|ZIF18—15—40 W/C=60% C=270kg 5% 5
£a2 91—k K RERRD|Z%E21— 5—25 W/C=60% 5% 5
£a2 91—k K RERRED|Z%E21— 5—40 W/C=60% 5% 5
£a2 91—k K RERRED|Z 18— 5—40 W/C=65% 5% 5
£a2 91—k K RERRED|Z 18— 8—25 W/C=65% 5% 5
£a2 91—k K RERRD|Z 18— 8—40 W/C=65% 5% 5
£a2 91—k KRERBRD|Z E18—12—25 W/C=65% 5% 5
£a2 91—k KRERBRD|Z E18—12—40 W/C=65% 5% 5
£a2 91—k K RERRED|Z%E21— 5—40 W/C=65% 5% 5
£a29)—Fk K RERRED|Z%E21— 8—40 W/C=65% 5% 5
£a29)—Fk K RERRD|Z%E21—12—40 W/C=65% 5% 5
£a29)—Fk K RERRED|Z%F24— 5—40 W/C=65% 5% 5
£a29)—Fk K RERRD|ZKF24— 8—25 W/C=65% 5% 5
£a29)—Fk K RERRED|Z%F24— 8—40 W/C=65% 5% 5
£a29)—Fk K RERRD|Z K F24—12—25 W/C=65% 5% 5
£a29)—Fk K REFRD|ZKF24—12—40 W/C=65% 5% 5
£a291)—hk KEEKREO|H(F45—2.5—40 #95% + F
£a29)—Fk K R mRED|fHF45—2.5—40 W/C=55% 5% 5
£a2 91—k K R RED|fHF45—6.5—40 W/C=55% 4% 5
£ 91—k KEFHMED|ZE H(F45—25—40 W/C=55% 5% 5
£ 91—k KEFHMED|ZE H(F45—65—40 W/C=55% 4% 5
£a91)—k KEEEMED|F % 40-12-25 W/C=Z55% = EEAERKHE $94% 5
£a2 91—k KEREFMREQ| 30— 8—25 W/C=50% 4% 5
£a2 91—k KERERMREQ| 30— 8—40 W/C=50% 4% 5
£a2 91—k KEERMRERQ| 30—12—25 W/C=50% 4% 5
£a2 91—k KEERMREQ| 30—12—40 W/C=50% 4% 5
£a2 91—k KEERMREQ| 21— 8—25 W/C=55% 5% 5
£a2 91—k KEERMREQ| 21— 8—40 W/C=55% 5% 5
£a2 91—k KEERBRERQ| 21—12—25 W/C=55% 5% 5
£a2 49—k KEERMRQ| 21—12—40 W/C=55% 5% 5
£a2 49—k KERERMRQ| 24— 8—25 W/C=55% 5% 5
£a2 49—k KEERMRQ| 24— 8—40 W/C=55% 5% 5
£a2 49—k KEERMRQ| 24—12—25 W/C=55% 5% 5
£a2 49—k KEERMRQ| 24—12—40 W/C=55% 5% 5
£a29)—k KERERMREQ| 30— 8—25 W/C=55% 4% 5
£a2 49—k KEERMREQ| 30—12—25 W/C=55% 4% 5
£a291)—k KEHEHHEQ| 30—18—25 W/C=55% C=2350kg 4% £ 5
£a2 49—k KEERMREQ| 18— 8—25 W/C=60% 5% 5
£a2 49—k KEERMREQ| 18— 8—40 W/C=60% 5% 5
£a291)—k KEEHMER| 18— 8—25 W/C=60% C=230kg #95% £ 5
£a291)—k KEEHMER| 18— 8—40 W/C=60% C=230kg #95% £ 5
£a2 49—k KEERMRQ| 18—12—25 W/C=60% 5% 5
£a2 49—k KEERMREQ| 18—12—40 W/C=60% 5% 5
£a291)—k KEHEBHHEQ| 18—12—25 W/C=60% C=230kg #95% £ 5
£a291)—k KEHEBHHEQ| 18—12—40 W/C=60% C=230kg #95% £ 5
£a291)—k KEHBHHEQ| 18—12—25 W/C=60% C=270kg #95% £ 5
£a291)—k KEHEBHHEQ| 18—12—40 W/C=60% C=270kg #95% £ 5
£a2 49—k KEERMREQ| 21— 5—25 W/C=60% 5% 5
£a2 49—k KEERMRQ| 24— 8—40 W/C=60% 5% 5
£a2 49—k KEERMRQ| 24—12—40 W/C=60% 5% 5
£a2 91—k KEERMREQ| 18— 5—40 W/C=65% 5% 5
£a2 91—k KEERMREQ| 18— 8—25 W/C=65% 5% 5
£a2 91—k KEERMREQ| 18— 8—40 W/C=65% 5% 5
£a2 91—k KEERMREQ| 18—12—25 W/C=65% 5% 5
£a2 91—k KEERMREQ| 18—12—40 W/C=65% 5% 5
£a2 91—k KEERMREQ| 18—15—25 W/C=65% 5% 5
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£a2 49—k KEERMREQ| 18—18—25 W/C=65% 5% 5
£a2 91—k KEEFMREQ| 21— 5—40 W/C=65% 5% 5
£a2 91—k KEERMREQ| 21— 8—25 W/C=65% 5% 5
£a2 91—k KEERMREQ| 21— 8—40 W/C=65% 5% 5
£a2 91—k KEEFBRERQ| 21—12—25 W/C=65% 5% 5
£a2 91—k KEEFBRERQ| 21—12—40 W/C=65% 5% 5
£a2 91—k KEERBRQ| 21—15—25 W/C=65% 5% 5
£a2 91—k KEERMREQ| 21—18—25 W/C=65% 5% 5
£a2 91—k KEERMREQ| 24— 8—25 W/C=65% 5% 5
£a2 91—k KEERMRQ| 24—12—25 W/C=65% 5% 5
£a29)—Fk KEERMRQ| 24—12—40 W/C=65% 5% 5
£a29)—Fk KEERMRQ| 24—15—25 W/C=65% 5% 5
£a29)—Fk KEERMRQ| 24—18—25 W/C=65% 5% 5
£a29)—Fk KEERMRQ| 27—15—25 W/C=65% 4% 5
£a29)—Fk KEERMRQ| 27—18—25 W/C=65% 4% 5
£a29)—Fk K RERREQ| = %E30— 8—25 W/C=50% 4% 5
£a29)—Fk K RERREQ| = %E30— 8—40 W/C=50% 4% 5
£a29)—Fk K RERRQ|Z E30—12—25 W/C=50% 4% 5
£a29)—Fk K RERRQ|Z E30—12—40 W/C=50% 4% 5
£a2 91—k K RERRQ|Z%E21— 8—25 W/C=55% 5% 5
£a2 91—k K RERRQ|Z%E21— 8—40 W/C=55% 5% 5
£a2 91—k K RERRQ|Z 21 —12—25 W/C=55% 5% 5
£a2 91—k K RERRQ|Z E21—12—40 W/C=55% 5% 5
£a2 91—k K RERRQ|Z 24— 8—25 W/C=55% 5% 5
£a2 91—k K RERRQ|Z%F24— 8—40 W/C=55% 5% 5
£a2 91—k K RERRQ|Z F24—12—25 W/C=55% 5% 5
£a2 91—k K RERRQ|Z F24—12—40 W/C=55% 5% 5
£a2 91—k K RERREQ|Z%E30— 8—25 W/C=55% 4% 5
£a2 91—k KRR EQ|ZFE30—18—25 W/C=55% C=350kg 4% 5
£a2 91—k K RERRQ|Z 18— 5—40 W/C=60% 5% 5
£a2 49—k K RERRQ|Z 18— 8—25 W/C=60% 5% 5
£a2 49—k K RERREQ|Z 18— 8—40 W/C=60% 5% 5
£a291)—k KREHMEQ| S F18— 8—25 W/C=60% C=230kg #95% £ 5
£a291)—k KREHMEQ| S F18— 8—40 W/C=60% C=230kg #95% £ 5
£a2 49—k KRERBRQ|Z E18—12—25 W/C=60% 5% 5
£a29)—k KRERBRQ|Z E18—12—40 W/C=60% 5% 5
£a2 49—k KEEKEQ|EIF18—12—25 W/C=60% C=230kg 5% 5
£a2 49—k KEEKEQ|EIF18—12—25 W/C=60% C=270kg 5% 5
£a2 49—k KEEKEQ|ZIF18—12—40 W/C=60% C=230kg 5% 5
£a2 49—k KEEKEQ|Z F18—15—40 W/C=60% C=270kg 4% 5
£a2 49—k K RERRQ|Z%E21— 5—25 W/C=60% 5% 5
£a2 49—k K RERRQ|Z%E21— 5—40 W/C=60% 5% 5
£a2 49—k K RERREQ|Z 18— 5—40 W/C=65% 5% 5
£a2 49—k K RERRQ|Z 18— 8—25 W/C=65% 5% 5
£a2 49—k K RERREQ|Z 18— 8—40 W/C=65% 5% 5
£a2 49—k KRERBRQ|Z E18—12—25 W/C=65% 5% 5
£a2 49—k KRERBRQ|Z E18—12—40 W/C=65% 5% 5
£a2 49—k K RERRQ|Z%E21— 5—40 W/C=65% 5% 5
£a2 49—k K RERRQ|Z%E21— 8—40 W/C=65% 5% 5
£a2 49—k K RERRQ|ZKE21—12—40 W/C=65% 5% 5
£a2 49—k K RERRQ|Z 24— 5—40 W/C=65% 5% 5
£a2 91—k K RERRQ|Z 24— 8—25 W/C=65% 5% 5
£a2 91—k K RERREQ|Z%F24— 8—40 W/C=65% 5% 5
£a2 91—k K RERRQ|Z K F24—12—25 W/C=65% 5% 5
£a2 91—k K RERRQ|Z K F24—12—40 W/C=65% 5% 5
£a291)—k KEEKEQ|H(F45—2.5—40 #4% + 5
£a2 91—k K REGmREQ|fHF45—2.5—40 W/C=55% 4% 5
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£a2 49—k K R mREQ|fHF45—6.5—40 W/C=55% 4% 5
£a291)—F KEFEHMEQ| Y HI(T45—25—40 W/C=55% 4% £ 5
£a291)—F KEFEHMEQ| Y HI(T45—65—40 W/C=55% 4% £ 5
£a2 91—k kR Q)| Bk 40-12-25 W/C=55% =1 EEAERKH $94% 5
i EWhX (B -xEH) 9% F 7
EX EILU#EX  [5-15cm $99% F 5
i EIU#X  [15-25cm #98% + F
BAR3E E1U#tX  [30-40mm 9%+ 5
BhRiss E1U#tX  [20-30mm 9%+ 5
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i FE#HX [15-25cm 6% E 7
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i KEHR  [15-25cm 8% £ 5
BH35 KEHEX [30-40mm $99% F 5
BhRiss KEHEX  [20-30mm 9%+ 5
HNERA6E KEMEK  [13-5mm 9% F 7
BHNERATS KEMEX  [5-2.5mm 8% 7
i mEHX |#EB-=H) 9% F 7
£H X [5-15cm 9%+ 5
i WX [15-25cm 8% £ 5
BAR3E WX |30—40mm 9%+ 5
BhRiss WX |20-30mm 9%+ 5
BRERAES Wit X  |13-5mm 9%+ 5
BRERAIS WX [5-2.5mm #98% + F
@ ELEFHEC|H#E - H) 7% E 5
EX S =L %X ®)[5-15cm 1% EH
i B4 #E®)]15-25¢cm 7%+ 5
BHA3= = LR 6)[30-40mm 8% 5
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BhRiss sk RAFE# X 2] 20-30mm #98% + F
BRERR6E Kk R4 #E 2] 13-5mm 7%+ 5
BRERRIE KB4 HEQ]5-2.5mm 1% EH
FAIPWNEHM BEMALY BWHE [FA77 R ENETOP25mm 4% £ 5
TAI7VMEM BEMAY  EWX [HHKHE AC 20 #4% + 5
TAI7VMEM BEMAY  EWWHX [ZEHE AC 13 #4% + 5
TAI7VMEM BEMAY  EWHX [ZEHE AC 13FA 4%+ 5
TAI7VMEM BEMAY  EWHX [ZEHE AC 20FH 7%+ 5
TAITWNEH# EILMEX [ZFHIE AC 20FH REM ALY 4% E 5
TAITWNEH# EIMX  [HHIE AC 5F 7%+ 5
TAI7VMEM BEMAY  EWHX [#HAFIE AC 13F #93% + F
TAIZVNE# ELMX  [BHHIE AC 13 #93% + F
TRAIZVNEM BAEMAY  SEMEX  [FAI7MIEEMLIETOP25mm ¥2% F 5
TAI7VMEM BEMAY  SH#X  [fHHE AC 20 2%+ 5
TAI7VMEM BEMAY  SHHX [ZEHE AC 13 #93% + F
TAITMVEM BEMAY  SEHX [ZHE AC 13FA ¥2% F 5
TAIZTVEM BEMAY  SHEMX [ZHE AC 20FH 4% E 5
TAITWNEH SREMHEX [ZHE AC 20FH B AY ¥2% F 5
TAI7 LA E# SiE#hX  [#HIE AC 5F ¥4 £ 5
TAI7VMEM BEMAY  SHHX  [#HFE AC 13F #1% 5
TAIZVNEH# SEMX  [FARIE AC 13 #1% 5
FRAIZPWNE# BAEMAY AR [7A77) MR ELIETOP25mm #92% + 5
TAI7VMEM BEMAY  FiFEMX  [FHKE AC 20 #92% + 5
TAIZMVMEH BEMAY  FFEHX  [ZFEHE AC 13 #93% L5
TAIZMVNEW BEMAY  FFEHX  [ZEHE AC 13FA $92% £ 5
TAIZVNEW BEMAY  BFEHX  [ZEHE AC 20FH $4% EF
TAITWNEH FiEmMX [ HIE AC 20FH SREM ALY 2% F 5
TAIZVNEH# BRI  [HABIE AC 5F #4% + 5
TAIZWMEW BEMAY  FFEHX  [HFIE AC 13F F1% bR
TAIZVNE# BRI [BHALE AC 13 #1% 5
FAIZWNEH BEMALY  KE#HER [FA77RENIETOP25mm 2% R
TRIZWNEM BEMAY  KRMKX [FAKIE AC 20 #92% + 5
FRAITWNEH BAEMAY  KEHRX [ZRHE AC 13 #93% + F
FAIFMEH BAEMAY kKkEMEX [ZHE AC 13FA 2%+ 5
FAIFMEH BEMAY kE#EKX [ZHE AC 20FH 4%+ 5
TAITWNEH# KEMEX [ZHIE AC 20FH REM ALY 2% F 5
TAITWNEH# KEMX [HHIE AC 5F #4% + 5
TAI7WVMEM BEMAY  KE#X  [HAFIE AC 13F F1% bR
TAIZVNE# KEMX |[BHHLE AC 13 #1% 5
FAIZWNEH BEMALY  FE#E [7A77 R ENETOP25mm #3% 7
TAI7VMEM BEMAY  REMEX  [FHRE AC 20 #92% + 5
TAI77MNEH BEMAY HEHEX |[ZHE AC 13 3% F 5
TAI77MEH BEMAY HEHEX |[ZHE AC 13FA ¥2% F 5
TAI7MNEH BEMAY HEHEX |[ZHE AC 20FH 1%t H
TAITWNEH# iRt X  |ZBHIE AC 20FH B4 AY) ¥2% F 5
TAIZVNE# X |#AIE AC 5F 7%+ 5
TAI7VMEM BEMAY  BREHX  [HAFIE AC 13F 1% bR
TAIZVNEH# WX |BHRIE AC 13 #1% 5
FAIZWNEH BEM ALY SLEEBRE|7A77 ) R ENIETOP25mm 4% £ 5
FRAITWVNER BAEM ALY ZILiEskiXOE| 3B HIE AC 20 #4% + 5
FRAITWNER BAEMAY SILEHFXOE|ZHE AC 13 #94% + 5
FRAITWNER BAEM ALY SILiEkinROE| 235 E AC 13FA #4% + 5
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FRAITWNER BAEMAY SO ZHE AC 13 #4% + 5
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FRAITWVNEM BAEMAY SLiEHktXO|ZHE AC 20FH 7%+ 5
TAITWNEH# ELHHMEQ|ZAIE AC 20FH REMAY #4% + 5
TAITWNEH# E LK EQ|HIAIE AC 5F 7%+ 5
FAIZWNEH BEM ALY SLEEbXO|#%IE AC 13F #93% + F
TAITWNEH# =LK EQ|BHHLE AC 13 #93% + F
FAIZWNEH BEM ALY SILEEBRO|[7A77) R ENIETOP25mm 4% E 5
FRAITWNER BAM ALY ZILiEskbXO| 384 E AC 20 #4% + 5
FRAITWNER BAM ALY Sl XO|[Z2HE AC 13 #4% + 5
FRAITWNER BAEM ALY Sk XO| 235 E AC 13FA #4% + 5
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TRAIZVNE# BAEMAY )14k X [#FIE AC 13F #3% EH
FAIF W EFA 7)1 14355k Hh X BRI E AC 13 3% LB
TRIZWNEM BEMAY AZHR  |[FRAIZIMNEELIETOP25mm 6% 8
TAIZVMEM BAEMAY  AZEMX  [HHAIE AC 20 #5% E 5
TAIZVNEM BAEMAY  AEMEKX [ZEHIE AC 13 #5% E 5
TRAIZVMEM BAEMAY  AZEMKX [ZHE AC 13FA #5% EF
TRAIZVNEM BAEMAY  AEMRKX  [ZEHIE AC 20FH #10% E 5
FAI7INE# AZHEX [ZHE AC 20FH SREH#M ALY #5% 5
FAI7INE# AEMX  [#AFIE AC 5F #Hou EH
TAIZVNEM BAEMAY  AEHRKX  [MHIE AC 13F HautEH
FAIF W EFA AEMX [BAKIE AC 13 ¥4y £ H
A7V EHM BEMAY kRESEMRO|[7A77IINRELIETOP25mm 2% EH
TAI7WNE# BEM ALY kEEHEBRO[HERE AC 20 Hou EH
TAI7WNE# BEMAY kEEFERO|ZRE AC 13 #3% EH
TAI7IWNE# BEM ALY KkEEBHBRO|ZZHE AC 13FA 2% EH
TRAIZTWNEH BEM ALY KkEEEHRD|Z K E AC 20FH ¥4y EH
FAIF W EFA KEFEKMED|ZEHE AC 20FH SEMAY 2% EH
FAI7INE# KB EO| IR E AC 5F HauntEH
TAI7WNE# BEMAY kEEFERO[MBIE AC 13F Wi EH
FAI7INE# KB ED|BHRIE AC 13 B EH
TAI7WNEH BEMAY kRESFHRQ|7A77IINREMLIETOP25mm 2% EF
TAI7WNE# BEM ALY kEEHEHBRO[HERE AC 20 Hou EH
TAI7WNE# BEMAY kEEFEHRO|ZRE AC 13 #3% EH
TAI7IWNE# BEM ALY KkEEHHBROQ|ZZHE AC 13FA 2% EF
TRAIZTWNEH# BEM ALY KkEEEHRO|Z K E AC 20FH ¥4y £ H
FAIF W EFA KEHKMEQ|ZERLE AC 20FH EMAY 2% EH
7AI7INE# KB EQ| K E AC 5F HauntEH
TAI7WNEH BEMAY kEEFEBRO[MBIE AC 13F B EH
7AI7INE# KEEHHMEQ|BHRLE AC 13 B EH
FAIZPMEH BEMAYOND) FUHE  [FAI7LMREALIETOP25mm (100t i) FEEM
7A77MEH BEMAVCND)  BEIUHE  [FEIE AC 20 (100tK#E) FEAEM
7AI7MEH BEMAVCND) BIUME |FRIE AC 13(100tKHE) FEAEM
7AI7MER BEMAYCND)  BIUMEK |ZHE AC 13FA(100tK#E) FEEM
7AI7MER BEMAYCND)  BIUMEK |ZHE AC 20FA(100tX#H) FEEM
TAIZMANE# NED) SILHE [ZHHE AC 20FH S EBH# AY 100tk E) FEAEM
TAIZMANE# NED) EWHhX [BAKIE AC 13 (100tFK;H) FEEM
TAIPMEH BEMAYCND) BEMHE  |7A77VNERELETOP25mm (100t #) FEEM
TAIZPMEM BAEMAYOND) SFEHE  [FHHIE AC 20 (100tKE) 38800
TAIPMMES BEMAYGND)  BREMHE  |ZRRiE AC 13(100tK#H) 3R
TAIPMER BAEMAYOND) SEHE |ZHE AC 13FA(100tKH) 738800
TAIZMER BAEMAYOND) SEHE |[ZRHIE AC 20FA (100tKH) 738800
TAI7VAE# (/NO) SRR [ZBEEE AC 20FH S E# AY (100tk &) FEAE M
TAIZMANE# NED) SiE#hX  [BARIE AC 13 (100tK;H) FEEM
TAIPMEH BEMAYCND) BGEHX  |7AI7VMERELIETOP25mm (100t #) FEEM
7ATTMEH BEMAYCND)  AGEHIRX  [FERIE AC 20(100tkH) FEAE M
7ATTMEH BEMAYOND)  AEHIRX  [ZRE AC 13100tk ) FEAE M
7A77MEM BEMAYOMD) BRI |EBRRIE AC 13FA(100tK#H) FEEM
7A77MEM BEMAYOMD) BRI |EBRRIE AC 20FA (100tK#H) FEEM
TAIZMANE# NED) AiEmEX  [ZRE AC 20FH SREBH#M AY 100tk E) FEAE M
TAIZMANE# NED) £iEMX  [BAKIE AC 13 (100tK;H) FEEM
FRIZMEH BEMAYCND)  KEMIK  [FA77ANREALIETOP25mm (100tK ) FFRIB N
7AIPMEH BEMAYCND)  KEMRX [FERIE AC 20(100tkH) FEAEM
7AIPMEH BEMAYOND) KEHRX [ZHRE AC 13(100tkH) FEAEM
7A77MEM BEMAYOMD)  KEHIEK |BRRIE AC 13FA(100tK#H) FEEM
7A77MEM BEMAYOMD)  KEHIEX |BRRIE AC 20FA (100tK ) FEEM
FAI7VAE# (/NO) KEMHR |[ZHEE AC 20FH S&E# ALY (100tkE) FEAEM
TAIZLANE# NED) KEMX  [BAKIE AC 13 (100tK;H) FEAEM
95 / 39 R— Aoty rls



pillEsis

SHM7E18
EE
TAIPMEH BEMAYCND) KX |7AI77MVMRELIETOP25mm (100t #) FEEM
FAIPMEH BAMAYOND)  HERMEX  [FEHHPIE AC 20 (100tK i) 3R
FAIPMEH BAEMAYOND) HERMEX  |ZHRIE AC 13(100tKiH) 3R
FAIPMEHR BAEMAYOND)  HERMEX  |ZHIE AC 13FA(100tK i) 738800
FRIPMEHR BAEMAYOND) HERMEX  |ZHIE AC 20FA (100tK i) 738800
FAI7VAE# (/NO) EHX  [ZHIE AC 20FH BB # ALY (100t ) FEAEM
TAIZLANE# NED) WX |BARIE AC 13 (100t i) FEAEM
7AI7MAM BAMAYOND) BILEEBEQ[7 A7V R ELIETOP25mm (100t ) FFRIB 0
TA7TMEH BEMAYOND) BILEHHEQ[FBIE AC 20100tk ) FEAEM
TA7TMEH BEMAYOND) BILEHHEQ|ZRE AC 13(100tKE) FEAEM
TAIPMMEH BEHAYOND) TILEEBRRQ|ZRAIE AC 13FA(100tK ) FEAEM
TATPMMEH BEHAYOND) TILEERRQ|ZRAIE AC 20FA (100t% ) FEAEM
FAI7VAE# (/NO) =LK R Q| R R E AC 20FH BRE# AY (100tkH) FEAEM
TAIZLANE# NED) =LK EQ|BHAIE AC 13 (100tFK i) FEAEM
7AI7MAM BAMAYOND) BILEEBEO|7 277V R ELIETOP25mm (100t ) FFRIB 0
TAI7MEH BEMAYOND) BILEHHEG[FRIE AC 20100tk ) FEAEM
TA7TMEH BEMAYOND) BILEHHEG|ZRE AC 13(100tKE) FEAEM
TATPMMEH BEHAYOND) TILEEREE|Z R E AC 13FA(100t%E) FEAEM
TAIPMMEH BEHAYOND) TILEEREE|Z R E AC 20FA (100t% ) FEAEM
TAI7VAE# (/NO) =LK RGO R E AC 20FH BB # AY (100tkH) FEAEM
TAIZMANE# NED) =LK EE|BHAIE AC 13 (100tFK i) FEAEM
7AI7MAM BAMAYOND) BILEEBED|7 A7V RELIETOP25mm (100t ) FFRIE 0
TAI7TMEH BEMAYOND) BILEHHED[FRRIE AC 20100tk ) FEAEM
TAI7TMEH BEMAYOND) BILEHHED|ZRE AC 13(100tKE) FEAEM
TATPMMEH BEHAY(ND) BILEERRED|ZR R E AC 13FA(100t%E) FEEM
TATPMMEH BEHAYOND) TILEERRED|ZR R E AC 20FA (100t% ) FEEM
TAI7VAE# (/NO) =LK R D| R R E AC 20FH 2B # AY (100tkH) FEAEM
TAIZMVANE# NED) =KX |BHAIE AC 13 (100tFK i) FEAEM
7AI7MAM BAMAYOND) BILEEBEG|7 A7V RELIETOP25mm (100t ) FFRIE 0
TATMEH BEMAYOND) BILEHHEE[FHRIE AC 20100tk ) FEAEM
TAITMEH BEMAYOND) BILEHHER|ZRE AC 13(100tKE) FEAEM
FATPMMEH BEHAYOND) TILEEREE|ZE A E AC 13FA(100tKE) FEEM
TATPMMEH BEHAY(ND) TILEERRE|ZERIE AC 20FA (100t% ) FEEM
TAI7VAE# (/NO) =L RO R B AC 20FH BRE# AY (100tkH) FEAEM
TAIZMANE# NED) =LK E@)|BHAIE AC 13 (100tFK i) FEAEM
7AI7MAM BAMAYOND) BILEHBEO[7 277V RELIETOP25mm (100tkK ) FFRIE 0
TA7TMEH BEMAYOND) BILEHHEO[MBIE AC 20100tk ) FEAEM
TAITMEH BEMAYOND) BILEHHEQ[ZRE AC 13(100tKE) FEAEM
TATPMMEH BEHAYOND) TILEERROQ|ZEAIE AC 13FA(100t%E) FEEM
TATPMMEH BEHAYOND) TILEERROQ|ZRAIE AC 20FA (100t% ) FEEM
TAI7VAE# (/NO) =LK R Q| R E AC 20FH BB # AY (100tkH) FEAE M
TAIZMANE# NED) =KX Q|BHAIE AC 13 (100tFK i) FEAE M
7AI7MAM BAMAYOND) BILEHBEO[7 277V R ELIETOP25mm (100t ) FFRIB 0
TA7TMEH BEMAYOND) BILEHHEO[FERIE AC 20100tk ) FEAE M
TA7TMEH BEMAYOND) BILEHHEO[ZRE AC 13(100tKE) FEAE M
FATPMMEH BEHAY(ND) TILEERRO|Z R E AC 13FA(100t%E) FEEM
FATPMMEH BEHAYOND) TILEERRO|ZR R E AC 20FA (100t% ) FEEM
TAI7VAE# (/NO) =L R 0| ZR R B AC 20FH BB # A Y (100tkH) FEAE M
TAIZMANE# NED) =LK EO|BHAIE AC 13 (100tFK i) FEAE M
FRIZPMEH BAEMAY D) )X |7 A7)0 ELIETOP25mm (100tK i) FFRIB 0
TAITMMEH BAEMAYCND) F) B X | AR E AC 20 (100tK ) FEAE M
TAITMER BEMAYND) )X | R E AC 13(100tK#H) FEAEM
TAIPMVER BAEMAYND) Fr) | 4E5EH X |24 B AC 13FA (100t ) FEEM
TAIPMVES BAEMAYND) Fr) | 4E5EH X | 2245 B AC 20FA (100t ) FEEM
FAI7VAE# (/NO) 7)1 1455k X [ B2 ki EE AC 20FH 2RE# A Y (100t ) FEAEM
TAIZLANE# NED) 1155 X | BHALE AC 13 (100t i) FEAEM
TAIPMEH BEMAYCND) AEHX  |7AI7VMERELIETOP25mm (100t #) FEAEM
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SM7E18
WERE
7AI7TMAM BEMAYOND)  AEHRX  [$EEIE AC 20 (100tk i) FTARE
FAITMAM BEMAYOND)  AEHRX  [ZHE AC 13(100tk ) FEAEM
7A77MEM BEMAYOMD) AEHIRX |BRE AC 13FA(100tK#H) FEEM
7AI7MEM BEMAYOMD) AEHIRX |BRRE AC 20FA (100tK ) FEEM
TAI7VEE# (hO) AZEHRX [ZHHE AC 20FH B &E# AY (100tK &) FARE
TAI7VEE# (hO) AEHX [BHRIE AC 13(100tkK ) FEAEM
FRIZVEH BAEMAYOMD) K EEHFMRO|7A77 VMR ELIETOP25mm (100tK ) B0
TAIZPWNER BEMAYOND) kREHMEO[FEHIE AC 20 100tk ) #FRE 0
TAIPMEH BEFAY(ND) KEEEBREDO|ZHE AC 13100tk E) AR STE R
FAIPMEH BAEMAY (M) KEEHHBED|ZRRE AC 13FA(100tXH) FEAEM
TAITMEM BEBAYND) SKEEHEED|ZHE AC 20FA (100t ) AR STE R
TAIZMVAMEHM D) K RAEHEHED| BRI E AC 20FH SRE# AY) (100tkK#H) FARE
TAI7VEE# (hO) KAEKBEO|FARLE AC 13 (100t ) FARE
FRIZVEH BEMAYOND) K EEHFIMRQ|7A77 VMR ELIETOP25mm (100tK ) B0
TAIZPMNER BEMAYOND) KkEEHMEQ[MEHIE AC 20 (100t ) #FRE 0
TAIPMNER BEMAYOND) KEEHMEQ|ZHE AC 13(100tK ) AR STE R
TAITMEM BEBAY(ND) SKEEKREQ|ZHE AC 13FA(100tK ) AR STE R
TAITMEM BEBAY(ND) SKEEKREQ|ZHE AC 20FA (100t ) AR STE =R
TAIZMVAMEHM D) K RAEHHE Q| BRI E AC 20FH SRE# AY) (100tkK ) FARE
TAI7VEE# (O) KAEKBEQ|FARLE AC 13 (100t ) FTHRE
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PallEsis

SHM7E18
WEBE

= 2R

XGRS B MRE HEAR
AV JIS285L¥a5 1%+ 5
Bl (REUE) 1% EF
8H (/\kE—)L) 1% EF
BH (R \kE—=)L) 2% F 5
Bl (E=p—1)-) 2% F 5
BHh (R (E=p—1)-) #91% EF
Bl @a—=1y-) 2% FH
Bm () @a—=1y-) 2% EH
ER AEHR (B—Y—) 2% F 5
KT M S-O0——EL 1~2KLIEHE A WIsEH
EAH 20:1 20LA (RAR) 1% EF
RyHZAIAN—FREEE 25S #98% £ F
RO RAINAN—FEHIEE 30SW ¥912% F 5
E R H(SD295A) £ 10mm 19T &
E R H(SD295A) £ 13mm 19T &
E R H(SD295A) £ 16mm 19T &
2 2 ¥ (SD345) £ 13mm 19T &
2 2 ¥ (SD345) %16-25mm 1% T &
2 2 ¥ (SD345) %29-32mm 1% T &
2 2 ¥ (SD345) Z35mm 1% T &
2 2 ¥ (SD345) £38mm 1% T &
2 2 #iH(SD390) Z25mm 1% T &
2 2 #iH(SD390) Z29mm 1% T &
2 B2 #iH(SD390) Z32mm 1% T &
2 2 #iH(SD390) Z35mm 1% T &
2 2 #iH(SD390) £38mm 1% T &
2 B2 #iH(SD390) FE41mm 1% T &
2 2 ¥ (SD490) Z35mm 1% T &
2 2 ¥ (SD490) £38mm 1% T &
2 2 i (SD490) FE41mm 1% T &
FRiR I EE #HE13cm £45cm #10 1%+ 5
SRiR I EE A H 13cm Z45cm #8 1%+ 5
FRiR I EE A H 13cm Z45cm #6 1%+ 5
FRiR I EE #HE15cm £45cm #10 1%+ 5
SRiR I EE A HE15cm Z45cm #8 1%+ 5
SRiR I EE A HE15cm £45cm #6 1%+ 5
JhUEE (NRILA-#10) #8H 13cm 50cm X 120cm H1u LR
JhUEE (NRILH-#10) #8H 15cm 50cm X 120cm H1u LR
JhEE (/%)L #8) #8H 13cm 50cm X 120cm H1u LR
JhEE (/%)L #8) #8H 15cm 50cm X 120cm H1u LR
NI YRAR-a([E50cmB24T100cm) | BB LE 3£ 1:0.5 T
NS YRARH(JE50cmE1T100cm) | BB EE 3£ 1:0.5 T
NS YRAR —c(JE50cmE4T100cm) | BB LE 3£ 1:0.5 T
NS YEBE-a(JE50cmBE4T100cm) | B AL LE 3£ 1:0.5 T
NSV BRI -b(JE50cmE1T100cm) | BB LE 3£ 1:0.5 T
NS YEBEI-c(JE50cmE1T100cm) | BB LE 3£ 1:0.5 T
N YRCE -a(JE50cmE1T100cm) | BB LE 3£ 1:0.5 T
NI YRCEI-c(JE50cmEL{T100cm) | BB LE 3£ 1:0.5 T
NI YRAR-a(JE50cmBL4T100cm) A AL LE 3 1:1.0 T
NS YRAR-b(JE50cmBE4T100cm) (A AL LEE1:1.0 T
NI YRAR—c(JE50cmBE4T100cm) (A AL LEE1:1.0 T
NS YEBE!-a([E50cmB4T100cm) A AL LEE1:1.0 T
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PallEsis

SHM7E18
WEME

NS YBEI-b(JE50cmE1T100cm) (A AL LEE1:1.0 i

NS YRBE -c(JE50cmE1T100cm) (A ALLEE1:1.0 s

M YRCEI-a([E50cm B 47100cm) [ B ECEE321:1.0 e

M YRCEI-c(E50cmBL1T100cm) [ B ECEEZ21:1.0 e

ke —— )L kB—R & 50mm 4% 5
ke —— )L kHB—R & 75mm #96% 5
Bt =——)LHEKER—R ££100mm 4% R
BIiEE=—)LHEKEAR—R Z150mm 7% 5
BEEItE-_—ILBEUKESE) VP 13A 18mm X 2.5 X 4m #95% F 5
BEEtE-_—ILBEUKESE) VP 30A 38mm X 3.5 X 4m #95% F 5
BEIEILtE——ILEOKEE) VP100A114mm X 7.1 X 5m 5% E &
BEIEtE——ILE VP 40mm JIS K 6741 #95% F 5
BEIEtE——ILE VP 50mm JIS K 6741 #96% 5
BEIEtE——ILE VP 65mm JIS K 6741 #95% F 5
BEIEtE——ILE VP 75mm JIS K 6741 #95% F 5
BEIEtE——ILE VP100mm JIS K 6741 #95% F 5
BEIEtE——ILE VP125mm JIS K 6741 #95% F 5
BEIEtE——ILE VP150mm JIS K 6741 #95% F 5
BEIEtE——ILE VP200mm JIS K 6741 #95% F 5
BEIE{EtE=—ILE VP250mm JIS K 6741 #95% F 5
BEIE{LtE=—ILE VP300mm JIS K 6741 #95% F 5
EKBEEIEILE=—ILEDV)U4 vk | @40 JIS K6739 #93% 5
EKEEIEILE=—ILEDV)U4 vk | @50 JIS K6739 #92% 5
EKEEIEIEE=—ILEDV)V vk | @65 JIS K6739 3% EF
FKEEEILE ——ILEDV)U vk | ¢ 75 JIS K6739 #93% F 5
kKEEIEIEE=Z—)LEDV)V4 vk | ¢ 100 JIS K6739 4% 5
BEIE{LtE=—ILE VU 50mm JIS K 6741 #95% F 5
BEIE{EtE=—ILE VU 65mm JIS K 6741 #95% F 5
BEIEtE——ILE VU 75mm JIS K 6741 #95% F 5
BEIEtE——ILE VU100mm JIS K 6741 #95% F 5
BEIEtE——ILE VU125mm JIS K 6741 #95% F 5
BEIEtE——ILE VU150mm JIS K 6741 #96% 5
BEIEtE——ILE VU200mm JIS K 6741 #95% F 5
BEIEtE——ILE VU250mm JIS K 6741 #95% F 5
BEIEtE——ILE VU300mm JIS K 6741 #95% F 5
BEIEtE——ILE VU350mm JIS K 6741 #95% F 5
BEIEtE——ILE VU400mm JIS K 6741 4% 5
75143 — &% H 3% EF
A—FL—)L 9hEARBE)  |BRAIHE Gr-A-4E 2% F 5
A—FL—)L t9hEARBE)  |BAIHE Gr-B-4E 2% F 5
A—FL—)L t9hiEARBE)  |BAIHE Gr-C-4E 2% F 5
H—FL—)L o EARER) FRBIF Gr—-A-2B 2% F 5
H—FL—)L o EARER) FRBIF Gr-B-2B $92% F 5
H—FL—)L o EARER) RBIF Gr-C-2B $92% F 5
A—FL—)L t9hEARBE) |9BwH Gr-Am—4E 2% F 5
A—FL—)L t0hEARBE) |9BwH Gr-Bm-4E $92% F 5
H—FL—J)L o EAHER/) HBfEw A Gr-Am-2B $92% F 5
H—FL—J)L o EARHER/) B A Gr—Bm-2B $92% F 5
A—FL—)L B2HEER) Gr-A-2B-5 2% F 5
A—FL—)L B2REER) Gr-A-2B-4 2% F 5
A—FL—)L B2REER) Gr-A-2B-3 2% F 5
A—FL—)L B2HEER) Gr-A-2B-2 2% F 5
A—FL—)L B2REER) Gr-B-2B-5 $92% F 5
A—FL—)L B2REER) Gr-B-2B-4 $92% F 5
A—FL—)L B2HEER) Gr-B-2B-3 $92% F 5
A—FL—)L B2EER) Gr-B-2B-2 $92% F 5
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PallEsis

SHM7E18
EE
A—FL—)L B2HEER) Gr-C-2B-5 2% FF
A—FL—)L B2REER) Gr-C—2B-4 2% F 5
A—FL—)L BEEER®) Gr-C-2B-3 2% F 5
A—FL—I)L BRERAER) Gr-C-2B-2 2% F 5
MEHA—FL—)L thiEAR  |BREIA Gr-A3-3E(Hf) 2% F 5
MERA—FL—)L tiEAR |BREIA Gr-A4-2E(HE) 2% FF
MERA—FL—)L thiEAR  |BREIA Gr-AS-2E(Hf) 2% F 5
MERA—FL—)L thiEAR  |BREIA Gr-B3-3E(HE) 2% F 5
MERA—FL—)L thiEAR |BREIA Gr-B4-2E(HE) $92% F 5
MERA—FL—)L tohiEAR  [BREIA Gr-C3-2E(HE) $92% F 5
MERA—FL—IL 2 EAH A Gr-A3-2B(Bf) $92% F 5
MERA—FL—IL 2 EAH AR Gr-A4-2B(Bf) 2% F 5
MERA—FL—IL 2 EAH A Gr-A5-2B(Bf) $92% F 5
MEEA—FL—IL OV EAR PREIFE Gr-B3-2B(Hf) 2% F 5
MEEA—FL—IL OV EAR IREIFA Gr-B4-2B(Hf) 2% F 5
MERA—FL—IL 2 EAH R{EIFE Gr-C3-2B(Hf) 2% F 5
MEHA—FL—)L thiEAR  |BREIA Gr-A2-4E(HE) $92% F 5
MERA—FL—IL 2 EAH AR Gr-A2-2B(Bf) 2% F 5
MEEA—FL—IL OV EAR REIFE Gr-B2-2B(Hf) $92% F 5
MERA—FL—IL 2 EAR REIFE Gr-C2-2B(Hf) 2% F 5
MERA—FL—)L thiEAR |BREIRA Gr-B2-4E(HE) 2% F 5
MEHA—FL—)L tohiE AR [BREIA Gr-C2-3E(HE) 2% F 5
MERA—F5y—J L InxIZAEER) [T FE AR Ge-A[2-5]-[6-3]E #92% F R
MERAT—F5—T)L b EER) [T HE AR Ge-A[2-5]-[6-3]E 2% F &
MERA—Fr—T )L 5—T )L (->=) [T i AH Ge-A[2-5]-[6-3]E 2% F 5
MERH—F7—J )L k@3 (ae) | hiEAR Ge-A[2-5]-[6-3]E 2% F 5
MERA—F5—T )L InkxIZER) [T iEAR Ge-C[2-5]-[6-3]E 2% F &
MERA—KF5—T )L diFZ3ER) (£ iE AR Ge-C[2-5]-[6-3]E #92% F R
MERA—R5—TIL r—T )L (H->F) | iEIAFH Gec-C[2-5]-[6-3]E 2% F 5
MERA—F7—J )L k@l %aE(ae) [T hEIAR Ge-C[2-5]-[6-3]E 1% EH
MERA—F5—TJ )L ImXxIZAEER) |3 #IARH Ge-C[2-5]-[4-3]1B #92% F R
MERA—K—T )L bZEER) |2 #IA R Ge-C[2-5]-[4-3]1B 1% 57
MEMA—LFr—I )L #—I L (H->=) [a A H Ge-C[2-5]-[4-3]B 2% F 5
MERA—Fo—D )L ExREHIE(Ee) [2EAR Ge-C[2-5]-[4-3]B 1% EH
MERA—F5—T )L InkxIZAEER) [aVEIAR Ge-A[2-5]-[4-3]B #92% F R
MERA—K5—T )L dZAER) [aVEIARA Ge-A[2-5]-[4-3]B 2% F &
MERMA—Fr—J L ¥—D )L (H->=) a2 E5AH Ge-A[2-5]-[4-3]B 2% F 5
MERA—Fo—J )L ExEHIE(ae) [2 AR Ge-A[2-5]-[4-3]B 2% F 5
MERA—F5y—J L InxIZAEER) [T FE AR Ge-B[2-5]-[6-3]E 2% F R
MERAT—F5—T)L b AEER) [ T4 E AR Ge-B[2-5]-[6-3]E #92% F R
MERA—Fr—T )L 5—T )L (->=) [T i AH Ge-B[2-5]-[6-3]E 2% F 5
MERH—F7—J )L wk@xi(ae) | hiEAR Ge-B[2-5]-[6-3]E 2% F 5
MERA—F5—TJ )L InxIZAEER) |2 #IAR Ge-B[2-5]-[4-3]B #92% F R
MERAT—F5—T )L bZAEER) |2 #IAR Ge-B[2-5]-[4-3]B #92% F R
MERA—LFr—I )L ¥—I L (H-=) |32 E3A B Ge-B[2-5]-[4-3]B 2% F 5
MERA—Fr—J )L xEHIZE(ae) [2 AR Ge-B[2-5]-[4-3]B 2% F 5
MEEH—F 47— ) RS -=) [T AR Ge-A[2-5]-[6-3]E 2% F 5
MEEH—F 47— )L EiREEH-=) [T AR Ge-B[2-5]-[6-3]E 2% F 5
MEEH—F 47— )L EieEEi-%) [T hiEA R Ge-C[2-5]-[6-3]E 2% F 5
WMERH—R7r—D )L BREEHM(O->%) [a85AF Ge-A[2-5]-[4-3]B 2% F 5
MERH—R7r—7 )L BREEHM(O->=) [a85AHR Ge-B[2-5]-[4-3]B 2% F 5
WMERH—R7r—D )L BREEH(O->%) [28A R Ge-C[2-5]-[4-3]B 2% F 5
H—F7—7 )L RElREEH (O-F) [ThEIAR Go-A-6E 2% F R
H—F7—7 )L RElREEHM (O-oF) (TP EIAR Ge-B-6E 2% F R
H—F7—7)L FElREEHM (o) [T AR Ge-C-6E 2% F &
H—E7r—7 )L BREEH (H-oF) |2V EAH Ge-A-4B 2% F 5
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PallEsis

SHM7E18
WEME
H—E7r—7 )L BlREEH (H-oF) [V EAH Ge-B-4B 2% F 5
H—E7r—7 )L BlREEHH (H-oF) | EAH Gec—C-4B 2% F &
H—F45—JJIL =TI (oF) |THEAH Ge-A-6E 2% F 5
H—F5—JJIL =TI (oF) |THEAH Ge-B-6E 2% F 5
H—F45—JJIL =TI (o=) |EtHEAH Ge-C-6E 2% F 5
H—F5—JIIL =TI (Bo%) |2 E5AH Ge-A-4B 2% FF
H—F5—2JI)L =D)L (-oF) |arEAH Ge-B-4B 2% E &
H—F5—JJIL =TI (=) |2 E5AH Gec-C-4B 2% F 5
A—F7—2)L ImxEZE(ae) |TdiEAH Ge-A-6E 2% F 5
A—F7—2)L ImxEE(ae) |TtdiEAH Ge-B-6E 2% F 5
A—F7—2)L mExZE(EE) |5 EAR Ge-C-6E 2% F 5
H—F7—2)L mExZHE(EE) |2 EAH Ge-A-4B 2% F 5
H—F7—2)L mExZE(EE) |32 E5AFH Ge-B-4B 2% FF
H—Fy—2JJ ImEXIZHE(EHE) a AR Ge-C-4B 2% E R
A—F45—2J)L dEZHEEA) T+ A B Ge-A-6E 2% F 5
A—F45—2J)L dEZHEEA) + A B Ge-B-6E 2% F 5
A—F45—2)L dEZHEEA) T AR Ge-C-6E 1% L F
A—F7—2)L dRZEEeE) |2 EAH Ge-A-4B 2% F 5
A—F7—2)L diiZE(EeE) |32 E5AFH Ge-B-4B 2% F 5
A—F7—2)L dRiZEEeE) |2 EAH Ge-C-4B 2% F 5
SEEEBFRATN—FK/NMT(B®) [Gp-Ap—2E 2% FF
SEEERAH—F/ (T (Af) |Gp-Bp—2E 2% F 5
SEEBERAA—K/ 1T (Bf) [Gp—-Cp—2E 2% F 5
SEEEBRAT—FK/NMT(BR) [Gp-Ap—2B 1% EH
SHEEERAHI—F/ 1T (Bf) |Gp-Bp—2B 1% EH
SEEBERAA—K 1T (BE) [Gp-Cp—2B 2% F 5
SERA—F/ 1T (BE) Gp—-3P-3E 2% F 5
SERA—F/ 1T (BE) Gp-4P-3E 2% F 5
SERA—F/ 1T (BE) Gp-3P-3B 2% F 5
SERA—F/ 1T (BE) Gp-4P-3B 2% F 5
EREEARE #in, HEERE | ¢60.5 L=3000mm t=2.3 #92% F 5
EREEARE #n, HERE | $60.5 L=3500mm t=2.3 #93% F 5
ERIEEARE #in, HERE | ¢76.3 L=3500mm t=2.8 #93% F 5
EREEARE #in, HERE | ¢76.3 L=4000mm t=2.8 #92% F 5
TEEFRIYILLT) NH270W(L)(& E) #95% F 5
TEEFRIYILLT) NH180W(L)(& E) #95% F 5
ER CV-2C X 3.5 600V 2% T %
ER CV-3C X35 2% T %
ER CV-1Cx55 2% T %
E=—JLi\A4T VP-16mm #95% F 5
EBELILERE BEER $100x ¢ 75 EEH! #93% 5
EBELLERE BEER $125x p100 iEE & £93% E 5
EBELLERE BEER b 150x ¢ 125 L& £93% E 5
T)LR(Z90°) 40A RCAX A REETEE #93% 5
TJ)LAR(L90°) 50A RCAK Al iRiHEEE 4% 5
TJ)LAR(L90°) 65A L AR AIihEEakal 4% 5
TJ)LR(Z90°) 80A L AR mIihEEskE #93% 5
TJ)LAR(L90°) 100A RC Al iREEsEE 4% 5
TJ)LAR(L90°) 125A RCAKX Al iR EEskE #93% 5
TJ)LAR(L90°) 150A RCAK Al iREEsEE 4% 5
TJ)LAR(L90°) 200A SRS A SGP #10% £ F
TJ)LAR(L90°) 250A RS A SGP #10% £ F
TJ)LAR(L90°) 300A RS A SGP ¥11% L5
TILAR(L45°) 40A RCA KAl iRHEEE 4% 5
TILAR(L45°) 50A R C AR ATihEEexa 4% 5
TILAR(L45°) 65A L AR AIihEEekal #93% 5
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PallEsis

SH7E1A
REBE
TILR(Z45%) 80A 13U A= rl ffiE sk &l #94% £ 5
TLR(Z45°) 100A R C AR AIsREEE S #94% £ 5
T)LR(Z45°) 125A 13U A U] ik sk sl #94% £ 5
T)LR(Z45°) 150A 1o A ] idkss sl #94% £ 5
T)LR(Z45°) 200A HEZEEHAER SGP 105 ER
T)LR(Z45°) 250A MR ZEEHAER SGP 105 ER
T)LR(Z45°) 300A fHZEEH AER SGP 105 ER
BEETJLR RL 40A RCAR AT HEEHE #94% £ 5
BEEIJLAR RL 50A aCA X AlsgiEsks #94% £ 5
BEEI/JLR RL 65A aC A AIsRiEsEaE #94% £ 5
BEEIJLR RL 80A LA AIsRiEsEE #94% £ 5
EETI)LR RL 100A faC A K ATsEeEEk AL #94%.L 7
EETI)LR RL 125A faC A Al s Eek #93%.L 7
EET)LR RL 150A faC A alsEsEekE #4%.L 7
F—_X T 40A RUCAR AR E #94% £ 5
F—X T 50A RCARAISEEEELE #93% £ 5
F—X T 65A RCARAISEEEEAE #93% £ 5
F—X T 80A RCARAISHEESAE #94% £ 5
F—RX T 100A RCARAISEEEEAE! #94% £ 5
F—RX T 125A RC AR AISEEEEAE] #94% £ 5
F—RX T 150A RCARAISEEEEAE #93% £ 5
F—X T 200A SWAIZESHATER SGP #10%E 5
F—RX T 250A §fEIZE S AR SGP #99% £ 5
F—X T 300A SMAIZESHAIER SGP #10%E 5
BEEF—X RT 40A RC AKX iREEaEE! #94% £ 5
BEF—X RT 50A taC A K liRshasal #94% £ 5
BEF—X RT 65A taC A K il eREhas sl #94% £ 5
BEF—X RT 80A taC AKX IiRshes sl #93%. £ 5
EEZF—Z RT 100A LA Aligika #94%L 7
EEZF—Z RT 125A LA Aligik sl #93%.L 7
EEZF—Z RT 150A LA X AliRHHKE #94% L 7
E®&F—X RT 200A #TZEEHRER SGP #10%ER
BEEZF—X RT 250A SRS B iaHsl SGP $910% EF
BEF—X RT 300A S TS AEE SGP $910% EF
*+vvJ Ca 40A R CA KT iBEE Sk A #94%.L 5
vy Ca 50A 1aCAXATsRsEaEE #94%.L 5
vy Ca 65A 1aC A ATsREEakE #93%.L 5
vy Ca 80A U AKX AIsRsEaxs! #93%.L 5
vy Ca 100A faC AR ATsREEE% S #94%.L 5
vy Ca 125A 1aC AR ISR Rk S #94%.L 5
vy Ca 150A 1aC AR AIsaEEa% 5 #94%.L 5
TS 40A R CA KT iBeE Sk A #94%.L 5
vk S 50A faL At T35 ok A #93% L 5
vk S 65A TaL At a4 ok Al 935 L 5
VTS 80A U AKX AIsRsExE! #94%.L 5
Jhvyk S 100A 42U A ATk # fk & #94% £ 5
Jhyk S 125A U A ATk S ik & #93% £ 5
Jhyk S 150A U A AT 5 8k & #93% £ 5
EEY7Yk RS 40A RC AKX iREEasE! #94% £ 5
EEZYTIk RS 50A RCARAISEEEELE #94% £ 5
EEY7Yk RS 65A taC A KAl eRehas sl #93%. £ 5
EEY7Yk RS 80A taU AKX mliRshesal #93%. £ 5
E&EYYk RS 100A AU AT xS #94% £ F
E&EYyk RS 125A U AL AT xS #94% £ F
EEY7vk RS 150A U AT i xR #93%.EF
—vJIL N 40A RCAK AT iREETEA #94%.L 5
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PallEsis

SH7E18
WEME
—vy7)L Ni 50A RRCARAIEREEHE 4y F 5
—vy7)L Ni 65A R CARAIEREENHE 4y FF
—vy7IJL Ni 80A U AR Al ihiHEkS 4% 5
—v7J)L Ni 100A RC Al iRk E 4% 5
—v7J)L Ni 125A RCAKX Al iREEskE 4% 5
—vJJ)L Ni 150A RCAKX Al iR EEskE #93% F 5
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